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The following table shows (i) the percentage distribution of total number of products P and Q produced by six
companies A-F, (ii) the ratio of P to Q, and (iii) the percentage sale of P and Q. Total number of products P and Q
produced by these companies is 8 lakhs. Based on the data in the table answer the questions.

Company - wise distribution and sale of products

Ratio Sale (%)
Company Distribution(%6) of P and Q

P Q P Q
A 24% 5 3 65% 62%
B 18% 5 4 56% 78%
C 15% 2 3 72% 66%
D 28% 3 - 75% 60%
E 7% 4 3 64% 55%
F 8% 3 2 50% 48%

fmifea e () A T F B Fufal gRT IAed P 3R Q IR Ft F @A U= (i) (A) P ¥ Q FT 30 3R
(ii) P 3R Q P ufawra faw! &1 gxifan man §1 39 SUGl gRT IS P 3 Q IS F1 o T&T 8 ATE &1 AIferdT &
iU U 39 F R W ust F IW S

HUH! aR s 3R IdGl @ 9!

HUHT P 3R Q@ F (%) 3 fat 6
Pl Q P Q

A 24 % 5| 3 | 65% | 62%

B 18 % 5| 4 | 56% | 78%

C 15 % 2| 3 | 2% | 66%

D 28 % 3| 4 | 75% | 60%

E 7% 4 3 | 64% | 55%

F 8 % 3| 2 | 50% | 48%

What is the difference between the total number of products produced by company A and B together, and by the company
D?

1.1.92 lakh
2.1.53 lakh
3. 148 lakh
4.1.12 lakh

(1)1
(2) 2
(3) 3




(4) 4

DU A 3R B GHFT gRI U 9 FiHd Idrel & gal 98T 3R &+l D gR1 Fidd Iaiel @l 9o | fba- sidk g 2

1.1.92 T
2.1.53 T4
3.1.48 TG
4.1.12Tlg

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31701] Question Description : dwbv_pg_gp4_eng_2_q1l
2[Option ID=31702]

3[Option ID=31703]
4[Option ID=31704]

Sl. No.2
QBID:4201002

The following table shows (i) the percentage distribution of total number of products P and Q produced by six
companies A-F, (ii) the ratio of P to Q, and (jii) the percentage sale of P and Q. Total number of products P and Q
produced by these companies is 8 lakhs. Based on the data in the table answer the questions.

Company - wise distribution and sale of products

Ratio Sale (%)
Company Distribution(%) of P and Q

P Q P Q
A 24% 5 3 65% 62%
B 18% 5 4 56% 78%
C 15% 2 3 72% 66%
D 28% 3 4 75% 60%
E 7% 4 3 654% 55%
F 8% 3 2 50% 43%

fifeea oot ¥ () A & ¢ B8 HUMHT gRT Qe p 3R Q IR $1 Fa TB Ufa=d (i) () P ¥ Q FT U R
(iif) P 3% P ufyrd fask) ®1 gutar w1 §1 37 Hufdi gRT I P 3R Q IS B Bl W& 8 ARG 21 dTfersp1 §
2T T g9 F MUR W Ut F I

HUH aR Fe 3R IAG] B GBI

HUAT P 3R Q BT & (%) S fa (5
P | Q p Q

A 24 % 51 3 | 65% | 62%

B 18 % 5| 4 | 56% | 78%

C 15 % 2 3 | 72% | 66%

D 28 % 3| 4 | 75% | 60%

E 7% 4| 3 | 64% | 55%

F 8 % 3| 2 | 50% | 48%




What is the difference between the total number of products P and Q produced by company F?

1. 12400
2.12800
3. 13150
4. 14150

(1) 1
(2) 2
3) 3
(4) 4

T F gRT IdIGd P 3R Q STl & a S § A=< 1 87

1. 12400
2.12800
3.13150
4. 14150

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31705] Question Description : dwbv_pg_gp4_eng_2_q2
2[Option ID=31706]

3[Option ID=31707]
4[Option ID=31708]

Sl. No.3
QBID:4201003




The following table shows (i) the percentage distribution of total number of products P and Q produced by six
companies A-F, (ii) the ratio of P to Q, and (iii) the percentage sale of P and Q. Total number of products P and Q
produced by these companies is 8 lakhs. Based on the data in the table answer the questions.

Company - wise distribution and sale of products

Ratio Sale (%)
Company Distribution(%) of P and Q

P Q P Q
A 24% 5 3 65% 62%
B 18% 5 4 56% 78%
C 15% 2 3 72% 66%
D 28% 3 4 75% 60%
E 7% 4 3 64% 55%
F 8% 3 2 50% 43%

Frifea arfee & () A & F o Fufal gRT Iafed P 3R Q IS Bt o HEIT UG (5i) (A) P F Q FT U R
(iii) P 3R Q P ufarwra 4wt &1 g2ifan man §1 39 SUGl gRT IAEd P 3R Q IS Ft o7 T& 8 AE & AIferdT A
feU U 39 F R W ust F IW 2

HUH! aR e SR IdG! @ 9!

HUHT P 3R Q BT 8 (%) 3 fat 56
P| Q P Q

A 24 % 5| 3 | 65% | 62%

B 18 % 5| 4 | 56% | 78%

C 15 % 2| 3 | 2% | 66%

D 28 % 3| 4 | 75% | 60%

E 7% 4| 3 |64% | 55%

F 8 % 3| 2 | 50% | 48%

What is the average number of products P sold by all the six companies together?

1. 44740
2.44790
3.44840
4. 44380

(1) 1
(2) 2
3) 3
4) 4

Tt 8 Hufgl gRT a9 U p JAIGT di 21T T 7 52
1. 44740
2. 44790

3. 44840
4. 44880

1) 1




(2) 2
3) 3
4) 4
1[Option ID=31709]
2[Option ID=31710]

3[Option ID=31711]
4[Option ID=31712]

Question Description : dwbv_pg_gp4_eng_2_q3

Sl. No.4
QBID:4201004

Company - wise distribution and sale of products

The following table shows (i) the percentage distribution of total number of products P and Q produced by six
companies A-F, (ii) the ratio of P to Q, and (iii) the percentage sale of P and Q. Total number of products P and Q
produced by these companies is 8 lakhs. Based on the data in the table answer the questions.

Ratio Sale (%)
Company Distribution(%6) of P and Q

P Q P Q
A 24% 5 3 65% 62%
B 18% 5 4 56% 78%
C 15% 2 3 72% 66%
D 28% 3 - 75% 60%
E 7% 4 3 64% 55%
F 8% 3 2 50% 48%

Ry e 9 F onuR W ust F I I
HUH! aR se 3R IdGl @1 [
HU p 3R Q BT EeH (%) il fal 6
P | Q P Q
A 24 % 5| 3 | 65% | 62%
B 18 % 5| 4 | 56% | 78%
C 15 % 2| 3 | 2% | 66%
D 28 % 3| 4 | 75% | 60%
E 7% 4| 3 | 64% | 55%
F 8 % 3| 2 | 50% | 48%

1.7280
2.7240
3.7305
4.7110

(1) 1
(2) 2
(3) 3
(4) 4

What is the difference between the sale of number of products P and products Q by company E?

fmifea TifeeT () A T F B Fufal gRT IAMed P 3R Q ST T F @A U= (i) (A) P ¥ Q FT U 3R
(ii) P 3f¥ Q B ufawra ! 1 gIfan a1 €1 39 HUGI gRT IAMSd P 3 Q IS $1 T T&T 8 AE &1 AIfersd1 &




ST E gRT &9 70 3dTGl P 3R IdIG Q & 9B H [ 3ide g7

1.7280
2.7240
3. 7305
4. 7110

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31713] Question Description : dwbv_pg_gp4_eng_2_q4
2[Option ID=31714]

3[Option ID=31715]
4[Option ID=31716]

Sl. No.5
QBID:4201005

The following table shows (i) the percentage distribution of total number of products P and Q produced by six
companies A-F, (ii) the ratio of P to Q, and (iii) the percentage sale of P and Q. Total number of products P and Q
produced by these companies is 8 lakhs. Based on the data in the table answer the questions.

Company - wise distribution and sale of products

Ratio Sale (%)
Company Distribution(%) of P and Q

P Q P Q
A 24% 5 3 65% 62%
B 18% 5 4 56% 78%
C 15% 2 3 72% 66%
D 28% 3 - 75% 60%
E 7% 4 3 64% 55%
F 8% 3 2 50% 48%

fmifea TifeeT # () A T F B FUfE gRT IAME P 3R Q IR T F @A U= (i) (A) P ¥ Q FT 30 R
(i) P 3T q FI ufawa fat =1 gxtar man &1 39 HUGl g1 I P SR Q IUE! F o7 TEAT 8 AE &1 arfereT &
R T T ¥ YR W ud F I 2

HUH! aR e SR Id! @ fa@!

HUHT PR Q@ FeA (%) S fa! 6
Pl Q P Q

A 24 % 51 3 | 65% | 62%

B 18 % 5| 4 | 56% | 78%

C 15 % 2| 3 | 2% | 66%

D 28 % 3| 4 | 75% | 60%

E 7% 4| 3 | 64% | 55%

F 8 % 3| 2 | 50% | 48%




The number of products P sold by company A is % of the number of products P sold by company F

1. 40.625
2.120
3.296.5
4. 406.25

(1) 1
(2) 2
3) 3
(4) 4

HUT A GRI 9 U IAIG P B U831 SO F GR1 9d U IdIG) P &1 G341 &1 fdoa1 Ufa=id 87

1. 40.625
2.120
3.296.5
4. 406.25

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31717] Question Description : dwbv_pg_gp4_eng_2_q5
2[Option ID=31718]

3[Option ID=31719]
4[Option ID=31720]

Sl. No.6
QBID:4201006

Which one of the following strategies is not an element that defines true cooperative learning?

1. Positive interdependence and individual accountability
2. Competition

3. Group processing

4. Collaborative and social skills

1) 1
(2) 2
3) 3
(4) 4

gifed 7 O fog s ¥ arafd® ggart siftrs ufvvifta =8t glar &2
1. GPRIAD AT R e d Jaeca!
2. ufagef
3. 9fe® €U U TOIfd S
4. UganTdS 3R gifos $Ea

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31721] Question Description : dwbv_pg_gp4_eng_2_q6
2[Option ID=31722]

3[Option ID=31723]
4[Option ID=31724]

Sl. No.7
QBID:4201007




What higher - order knowledge can make the difference between how well and quickly one's students learn material?

1. Declarative

2. Rote

3. Meta cognition
4. Procedural

1)
(2)
(3)
(4)

P9 IR ®H & FH 4 ol fFendf gri sreag= Ol & Sifinm & TR 3R ifirs #1 1fg ¥ 3id 3907 81 9ad1 22

A W N R

1. J9F

2. HEY BT
3. W-H9H
4. BIUAUS

1)
(2)
(3)
(4)

A W N R

1[Option ID=31725] Question Description : dwbv_pg_gp4_eng_2_q7
2[Option ID=31726]
3[Option ID=31727]
4[Option ID=31728]

Sl. No.8
QBID:4201008

Which of the following is not a type of implicit long term memory?

1. Classical conditioning effects
2. Priming

3. Episodic Memory

4. Procedural Memory

(1)
(2)
(3)
(4)

Fgifd H ¥ &1 sicdad glulafie Wi &1 Uy -8l o7

1. FANDT HIDAT THG
2. UIgtET

3. STHHHS Hid

4. Uishare® Ffd

A W N R

1)
(2)
(3)
(4)

A W N =

1[Option ID=31729] Question Description : dwbv_pg_gp4_eng_2_q8
2[Option ID=31730]
3[Option ID=31731]
4[Option ID=31732]

Sl. No.9
QBID:4201009




Match List | with List 11

List | (Piaget's stages of cognitive
Development)

List lIl(Characteristics)

A. Sensorimotor

I. Can think logically about concrete problems

B. Pre-operational

II. Learns through reflexs senses and movements actions on the
environment

C. Concrete operational

Ill. Can think hypothetically and deductively

D. Formal operational

IV. Develops language and begins to use symbols to represent objetcs

T.A-ILB-L,C-IV,D-1I
2ZA-1LB-IV,C-1LD-1I
3A-NLB-IL,C-IV,D-I
44-1LB-I,C-1,D-1

1)
(2)
(3)
(4)

A W N R

Tl -1 B gt -1l | gHferd s -

Choose the correct answer from the options given below:

Tl -1 (foaret &

TS e e [T -1 [TEE)

)
A 93 iR @iy %Tﬁﬁ%ﬂﬁﬁdummwﬁmmaﬂ
i 1. ferad, 35, 3R 90 el & A G
B. Qd-Ufshurerd D 3,
B —— 1. IRGeT & U H AR AmEs e ¥
c fGgR L gad |

Bl

IV, HTHT fae e &l & 3R agafl &l Frefud
D. TUIHS HRhad® (B34 & o Yod! &1 UGN BT ARH B odl

T.A-Il,B-I,C-IV, D-1Il
2ZA-LB-IV.C-1l, D-1I
3A-NLB-IL,C-IV, D-1
4A-1ILBE-IV,C-1, D-1I

1)
(2)
(3)
(4)

A W N R

2[Option ID=31734]
3[Option ID=31735]
4[Option ID=31736]

i feu MU fedeul H 9 HEl ST gy

1[Option ID=31733] Question Description : dwbv_pg_gp4_eng_2_q9

Sl. No.10
QBID:4201010




Which of the following is a game-based platform used in educational institutions to create quizzes, conversations and
surveys?

1. Classcraft

2. Padlet

3. Google classroom
4. Kahoot

1)
(2)
(3)
(4)

A W N R

Fifed o O o1 69, araieny SR Tdam &1 T a9 &34 & ol e =i 4 e Sier Mid Temi o7

1. FTE BT
2. Ustle

3. Td GaTgEH
4. BIEE

1)
(2)
(3)
(4)

A W N R

1[Option ID=31737] Question Description : dwbv_pg_gp4_eng_2_q10
2[Option ID=31738]
3[Option ID=31739]
4[Option ID=31740]

Sl. No.11
QBID:4201011

When a researcher divides the entire population in sections, it is called as

1. Stratifed sampling

2. Cluster sampling

3. Convenience sampling
4. Systematic sampling

1)
(2)
(3)
(4)

T DIg JNYHdl O TGS @ WUs| H faHTd ©dl & df 98 Bealdi s -

1. THES Uidad
2. =5 Uid=g-

3. GiauTeR ufd=a=
4. PHEG UiGaa

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=31741] Question Description : dwbv_pg_gp4_eng_2_q11
2[Option ID=31742]
3[Option ID=31743]
4[Option ID=31744]




Sl. No.12
QBID:4201012

Mean of the means of sampling distributions of a finite population is

1. More than the mean of that population
2. Less than the mean of that population
3. Equal to the mean of that population
4. Equal to the median of that population

1) 1
(2) 2
3) 3
(4) 4

Tt uRffa SEen & ufagad §¢4 & 399! &1 A9 B &;

1. 3 SR & TEHE 9 S
2. 39 SEE & 9EHE d &4

3. 39 SHEET & HEAH & 99H
4. 39 TS B HIfEH & 991

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31745] Question Description : dwbv_pg_gp4_eng_2_q12
2[Option ID=31746]

3[Option ID=31747]
4[Option ID=31748]

Sl. No.13
QBID:4201013

The main types of validity encountered in research design and methodology are
A. Internal

B. External

C. Construct

D. Statistical conclusion

Choose the correct answer from the options given below:

1. A and C only
2. A, Cand D only
3.B,Cand D only
4.4, B, CandD

1) 1
(2) 2
3) 3
(4) 4




Y D AR Ugld H dudl & 89 UbR o:
A, 3MaR®
B. dT&l
c. T
D. Hifem® fsad
i< feu e fawedl 5 9 98l 3w 9 -
1. a0 A R C
2.%9d A CHRD

3. ®Hdd B, C 3R D
4.A B C3RD

1)
(2)
(3)
(4)

A W N R

1[Option ID=31749] Question Description : dwbv_pg_gp4_eng_2_q13
2[Option ID=31750]
3[Option ID=31751]
4[Option ID=31752]

Sl. No.14
QBID:4201014

Given below are two statements:

Statement I: Sampling where each member of the population can not be chesen more than once is called ‘sampling with
replacement’.

Statement Il: Sampling where each member of the population may be chosen more than once is called "sampling without
replacement’

In light of the above statements, choose the carrect answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

1)
(2)
(3)
(4)

EIEEAEAIE AT
T - | : WioaaH o e & TS 9ad @I UF aR 9§ i g1 91 o 9l o, “HioRIeH gaa Hfiad— Sgan ¢l
DY - 11 : Tl ToeH e & Udd 9es I Uh R U 386 41 S Gobd! &, “WiawiIeH Agd Uiaad= dgedl ¢
Iudad dyHl & aie | FafaRad fGeddl F 9 98 3o g -

1. @Y | 3R 11 §FT 9ET E

2. %Y | AR 11 BF A &

3. I TR e, g &Y 1 T B |

4. U T ¢, g B I T B

A W N R

1 1




(2) 2

3) 3

(4) 4

1[Option ID=31753] Question Description : dwbv_pg_gp4_eng_2_qi14
2[Option ID=31754]

3[Option ID=31755]
4[Option ID=31756]

Sl. No.15
QBID:4201015

Given below are two statements:

Statement I: In India, the consortium for Academic and Research Ethics (CARE) has been established by UGC to prepare and
maintain lists of quality research journals.

Statement II: Guidance document: Good Academic Research Practices (2020) has been published by CARE
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4. Statement | is false but Statement Il is true

(1) 1
(2) 2
(3) 3
(4) 4

DY - | - MR H GG SEH SRR A [UIad] U 201Y GRS &1 gl dR 6 3R 39 HREU & AU SDhieiHd
Td MY ER HAIcad (5U) B =T 31 2l

BY - || : AFIGRH Gedidal : 30H S@IGHd MY 3ETY (2020) HAR gRI HHIEd fardr 1 &
Iudad dyHl & cie | FefaRad fGeddl § 9 98 3 g -

1. @Y AR 11 GF TR B

2. YA | R 11 GF Tad 8

3. HU 1 eI &, g DU 1 T B |
4. %Y | 710 &, g BuA 1 T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31757] Question Description : dwbv_pg_gp4_eng_2_q15
2[Option ID=31758]

3[Option ID=31759]
4[Option ID=31760]

Sl. No.16
QBID:4201016

People who help in the transmission of message, for example, reporters or copy-editors, are known in media circles as

1. Carriers

2. Transporters
3. Mediators

4. Relay people




1) 1
(2) 2
(3) 3
(4) 4

TOTeR 1 BiUT-TfseR oY oafad off GoR & IREY § 98® 8id &, 8¢ e (H11Sdn) & &3 H ®el oidl &:
1. oy
2. Tuey

3. Hifsued
4. Tt diga

1)
(2)
(3)
(4)

A W N R

1[Option ID=31761] Question Description : dwbv_pg_gp4_eng_2_ql16
2[Option ID=31762]
3[Option ID=31763]
4[Option ID=31764]

Sl. No.17
QBID:4201017

Which of the following mass media is considered less expensive and more effective than others for educational
communication of non-literates?

1. Television

2. Radio

3. News papers
4. Films

1)
(2)
(3)
(4)

Fifed & ¥ & O o-ddaR A1ed TR-Rféd & et Yuw & [ o9 Al & UaThd &F Qdral AR Hw THE!
T ST 87

A W N =

1)
(2)
(3)
(4)

A W N R

1[Option ID=31765] Question Description : dwbv_pg_gp4_eng_2_ql17
2[Option ID=31766]
3[Option ID=31767]
4[Option ID=31768]

Sl. No.18
QBID:4201018




What are the relevant strategies of effective communication in a classroom?
A. Understanding the cultural background of students

B. Clarity in speech

C. Focused listening on both sides - teacher and students

D. Inventing cultural labels

E. Disdain for collective efforts

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4.D, Eand A only

1)
(2)
(3)
(4)

A W N R

He o mud guig of uifie sr-Hifaai s e

A. Taenfifal o1 aeias gyl ®f 99
B. Aol @ Tgwdr

c. e SR faendf g ual gRT Yau1 UR e[ &ivad a1 9

D. Fiepiad oad Pl a1y
E. Orfe® TR & Uid faEpR UG
e fgu T fadenl & ¥ 9 I I -
1. B A, B, C
2. %490 B, C, D

3. ®IAC, D, E
4. HAAD, E, A

1)
(2)
(3)
(4)

A W N =

1[Option ID=31769] Question Description : dwbv_pg_gp4_eng_2_q18
2[Option ID=31770]
3[Option ID=31771]
4[Option ID=31772]

Sl. No.19
QBID:4201019




Given below are two statements:

Statement |: Language and other symbolic means of mass communication are social products.
Statement |l: Communication media always make their audiences feel comfortable.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

1)
(2)
(3)
(4)

A W N R

EIERAR G AT

BUF - | : THEAR DI YT R 3T Fichad ATEOH TS 3ATG

DY - || : IR H1H U HATE®! & U6d gEg 3-Hd 6d o
I Byl & Hele F HafaRad el 5 9 98 Fae g -
1. Y | 3R 11 &FT T8
2. BYA 1 3R 11 GFI T g |

3. Y | el g, g ®YA 1 TTad § |
4. @Y1 71Ad &, fb=g HUF 1| Gl Bl

1)
(2)
(3)
(4)

A W N R

1[Option ID=31773] Question Description : dwbv_pg_gp4_eng_2_q19
2[Option ID=31774]
3[Option ID=31775]
4[Option ID=31776]

Sl. No.20
QBID:4201020

Given below are two statements:

Statement |: Persuasive communication does not blur the difference between truth and falsehood.

Statement II: Mass mediated communication never reflects truth.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4. Statement | is false but Statement Il is true

1)
(2)
(3)
(4)

A W N R




DY - | : IATTIBRI TN & T 3R e & o9 &1 fade geyem el giaT o
TYA - || : THfE® odied 9uwy d 9 & 2t ufatéa @faffea) 72 s g1
Sudd Tyl & e § FufiRad el § 3 Tel S| A -

1. % 1 3R 1| GH 91 B

2. @Y1 SR 1 SF A B

3. P | Gl &, g &Y 11 T § |

4. @Y | T0d &, fod YT 11 Tl Bl

(1)
(2)
(3)
(4)

A W N R

1[Option ID=31777] Question Description : dwbv_pg_gp4_eng_2_q20
2[Option ID=31778]
3[Option ID=31779]
4[Option ID=31780]

Sl. No.21
QBID:4201021

Find the next term in the series given below:-
5,813, 21, 34, ...

1.49
2.51
3.68
4.55

(1) 1
2) 2
3) 3
4) 4
EIEEARIEE (ERIE IS N R A R
5,813, 21, 34, -----

1. 49

2. 51

3.68
4.55

1)
(2)
(3)
(4)

A W N R

1[Option ID=31781] Question Description : dwbv_pg_gp4_eng_2_q21
2[Option ID=31782]
3[Option ID=31783]
4[Option ID=31784]

Sl. No.22
QBID:4201022




The average age of a family of six members is 30 years. The youngest members of the family are twins with age 10 years.
Find the average age of the family just before the birth of the twins.

1. 28 years
2. 25 years
3. 30 years
4. 32 years

1)
(2)
(3)
(4)

A W N R

o aiaR & 3¢ Uew! @ 30d 31 30 79 51 39 URAR & Jad BI<¢ 10 T80 Y& 9S4l & ol godl Yo & o 4 3idb
Ud URaR & &l i $iad 31 Fd L

1.28 Ty
2.2534
3.30 T
4,32 T4

1)
(2)
(3)
(4)

A W N R

1[Option ID=31785] Question Description : dwbv_pg_gp4_eng_2_q22
2[Option ID=31786]
3[Option ID=31787]
4[Option ID=31788]

Sl. No.23
QBID:4201023

A person X is twice as good a workman as a person Y. By joining together, they complete a job in 18 days. Find the number
of days the person X as well as Y can complete the job, respectively, if each of them works separately.

1)
(2)
(3)
(4)

A W N R

Iy didd X HHOR & U H oida v ¥ GFMAT SiUd 304 g1 aHi [Hed: fhdl o1 @i 18 167 # R d g1 X 3R v gl
H: 34U BT B JYE TU G -4 fbad &7 § gu ar




(4) 4

1[Option ID=31789] Question Description : dwbv_pg_gp4_eng_2_q23
2[Option ID=31790]
3[Option ID=31791]
4[Option ID=31792]

Sl. No.24
QBID:4201024

A man earns Rs. 12,500 as simple interest @ 5% per annum in 5 years. Find the principal amount deposited by the man in
the bank.

1. Rs. 50,000
2. Rs. 45,000
3. Rs. 40,000
4. Rs. 35,000

1) 1
(2) 2
3) 3
(4) 4

D3 ATGH 5 Y H 5% Wiaay GreRuT s47el B &X 9 12,500 ¥ s41d foid Bl € dl 39 olidd Bl ddb H Jeed & &4 H
o T@H 9 87

1.50,000 ¥UY
2. 45,000 394
3. 40,000 ¥U4
4. 35,000 94

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31793] Question Description : dwbv_pg_gp4_eng_2_q24
2[Option ID=31794]

3[Option ID=31795]
4[Option ID=31796]

Sl. No.25
QBID:4201025

A girl is standing outside her house facing north direction. Turing to her right she walks 50 metres. Then she turns to her left
and walks 60 metres. She again turns to her right and walks 50 metres. Again she turns to her right and walks 80 metres.
Finally she turns to her right again and walks 80 metres. In which direction is the girl now from the starting point.

1. North - West
2. South - East
3. North - East
4. South - West

(1)1
(2) 2
(3) 3
(4) 4




D3 FIDT 30 TR & ale IR G- & HR T P Wal ¢ | 98 AU &l §S®R 50 HieR gadl g1 39 alg dg U g
3B 60 HIeX gadi | G7: 98 U1 grdl fG=n § gsax 50 Hiex gadl g1 i a8 30 aif g 80 Hiex gad! g1 =d:
UHaR R 98 30 Gl G5®x 80 Hiex 9eidl 8| 3fd a8 alfaa U+ RS e 4 oy fGan d &2

1. STR-UEH
2. cféu-gd
3. 3WR-ud

4. gi&or-ufam

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31797] Question Description : dwbv_pg_gp4_eng_2_q25
2[Option ID=31798]

3[Option ID=31799]
4[Option ID=31800]

Sl. No.26
QBID:4201026

Which informal fallacy is committed in the following argument - "Efforts have been going on for centuries to provide
conclusive evidence for the claims of astrology but have not met any access. Therefore we must conclude that astrology is
nothing but nonsence?

1. False cause

2. Hasty generalisation

3. Slippery slope

4. Argumentum ad Ignoration (Appeal to Ignorance)

(1) 1
(2) 2
3) 3
(4) 4

Frofafea ofda & S sFeRe ab-am ¢ - “Taifsal 9 Saifoy & a&! &1 Fuifas 9167 e &3 & maE Bu R
tifoe 50H ®is gmadl Hal (Hal | SUY 81 Fny Moo aNiet far saliay HETd faul & Ham s W Tal gl” ?

1. o sRo
2. HfdgR! g6
3. Thaegad oo (FRudl i)

4. WSS iad (N1 BT 3H1E)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31801] Question Description : dwbv_pg_gp4_eng_2_q26
2[Option ID=31802]

3[Option ID=31803]
4[Option ID=31804]

Sl. No.27
QBID:4201027




If the proposition "Some fishes are not egg-laying animals” is given as true, then which of the following propositions could
be immediately inferred to be false?

1. All fishes are egg-laying animals.
2. Some fishes are egg-laying animals.
3. No fishes are egg-laying animals.
4. Some egg-laying animals are fishes.

1)
(2)
(3)
(4)

A W N =

I 39 e - T2 Hofaal eiani® U el & -+ B 9d & ©U § four man § df FafiE § 3 fow vfasfa & smase
@1 dlbieih ¥4 U SFHA a1 o Udbdl 82

1. @ff goferat sosiesie Uy Bl
2. TS AT AUSIuid T & |
3. Big i AT SUSieia U Tel B
4. DS HUS[Eoid U Al g |

1)
(2)
(3)
(4)

A W N R

1[Option ID=31805] Question Description : dwbv_pg_gp4_eng_2_q27
2[Option ID=31806]
3[Option ID=31807]
4[Option ID=31808]

Sl. No.28
QBID:4201028

Which of the following statement is logically equivalent to the following statement- "Some dogs are not aggressive
animals"?

1. Some aggressive animals are not dogs.

2. Some non-aggressive animals are not non-dogs.
3. Some dogs are aggressive animals.

4. Some non-dogs are aggressive animals.

1)
(2)
(3)
(4)

A W N R

Frafafad & € S oy difthd 9 3 35 YT - 5B 1 SHHS U 6l & & JAq9 8 7

1. TS AHHES U T Tel g

2. BB IR-3MHMS U TR-F< T8l &
3. TS O B T 5

4. 5% R-Fd AFHS UL 2|

1)
(2)
(3)
(4)

A W N R




1[Option ID=31809]
2[Option ID=31810]
3[Option ID=31811]
4[Option ID=31812]

Question Description : dwbv_pg_gp4_eng_2_q28

Sl. No.29
QBID:4201029

Which of the following statements are contradictory of each other?

A. All human beings are mortal.

B. Some human beings are not mortal.

C. Some human beings are mortal.

D. No human beings are mortal.

Choose the correct answer from the options given below:

1.B and D only
2.Band C only
3. A and D only
4. A and B only

(1) 1
() 2
3) 3
(4) 4

Fafiied & € 19 $YT UH-g8x & ol 87

A T AT TR

B. 8 A TR T 5

C. P3 A TR 5

D. ®T% W AT TR TET &
i feu e fasdheal 5 U U8l IR 94 -

1.®Had B 3R D
2. %38 AR C
3. Haa A AR D
4. %ad A AR B

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=31813]
2[Option ID=31814]

3[Option ID=31815]
4[Option ID=31816]

Question Description : dwbv_pg_gp4_eng_2_q29

Sl. No.30
QBID:4201030




“When | left my office few minutes ago there was no coffee on my table; now when I return there is a cup of coffee lying on
my table. Therefore | can conclude that somebody must have brought a cup of coffee for me during my absence at the
office.” Which of the following instruments of knowledge is used in the above example?

1. Perception (Pratyaksa)

2. Postulation (Arthapatti)

3. Similarity (Upamana)

4. Non-existence (Anuplabdhi)

1)
(2)
(3)
(4)

A W N R

" 5Id $o [FHe Ugd Doy d -1 Ul, 96 51 HE R Dly D161 gl 4, cfce=1 7 oid oilel g, df 38 349 W U &U BIBI Ugl
g% o | 3ufoe, & e FidTd 9@l g & @i oafda sfad ¥ 14 oufufd & SR T o/ U@ &u S1e! amn g i
IWad Iarexu § Huiciiad # 9 99 o fdg Qred &1 SudnT a1 7/ 82

1. Ucd&El
2. Yo
3. UM

4. ucfel

1)
(2)
(3)
(4)

A W N R

1[Option ID=31817] Question Description : dwbv_pg_gp4_eng_2_q30
2[Option ID=31818]
3[Option ID=31819]
4[Option ID=31820]

Sl. No.31
QBID:4201031

Which of the following applications (A-C) are built on top of open-source digital platforms?
A. Moodle

B. Aarogya setu

C. Skype

Choose the correct answer from the options given below:

1. A and B only
2. A and Conly
3.B and C only
4.4 BandC

(1)
(2)
(3)
(4)

A W N R




FufiRad # 9 ®H-U HGHIE (A-C) Had-9id (u=-91d) f5ioed wewm! w [t gd 82

A TSd
B. R I

C. T

o feu U fadeal H U Ugl IR 94 -
1. 5dd A 3R B
2. FAAA AR C

3. BIAB AR C
4.A B IR C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31821] Question Description : dwbv_pg_gp4_eng_2_q31
2[Option ID=31822]

3[Option ID=31823]
4[Option ID=31824]

Sl. No.32
QBID:4201032

Match List | with List 11

List | (WWW Evolution) [List Il (Description)

A Web 1.0 |. Democratization of the capacity of action and knowledge
B. Web 2.0 II. Emotional web

C. Web 3.0 lll. Democratization of content production

D. Web 5.0 IV. Democratization of infromation access

Choose the correct answer from the options given below:

TA-IW,B-IILC-1,D-1
2ZA-NLB-1,C-1V,D-1
3A-LB-NILC-IV,D-1
4A-IV,B-ILC-1,D-1

(1) 1
(2) 2
(3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

G -1 (www Sfg@rE) (G -1l @)

A. 99 1.0 |. 5541 Ud 91 @1 &HdT &1 dlhd IR0l
B.d9 2.0 II. HTGUa a9

C.dd3.0 1. fawg-a%g v (IdeA) @1 diddiEdu
D.d9 5.0 V. YT HHTH BT Al =B

Hid feu e fadeal # 9§ 98l 3T gHU :

TA-IV,B-1I,C-1, D-1
2ZA-NLB-1,C-1V, D-1
A-LEB-NILC-IV, D-1I
4A-IV,B-I,C-1, D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31825] Question Description : dwbv_pg_gp4_eng_2_q32
2[Option ID=31826]

3[Option ID=31827]
4[Option ID=31828]

Sl. No.33
QBID:4201033

Given below are two statements:

Statement I: The National Mission on Education Through Information and Cemmunication Technology (NMEICT) has
been envisaged as a centrally sponsored scheme.

Statement Il: The NMEICT has produced wondrous benefits for young minds studying in primary, secondary and higher
education institutions.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

1) 1
(2) 2
3) 3
(4) 4




BUY - | G Ud GIR U] & ArerE 9 gty et e (@ v § o 91 E) B URee S SR gR1 Ui
Ao & 0 F 31 T

DY - 11 : T UH S 3 A & 7wl Arafie 3R 3= e SuET # srergeRd Aiferal Ud Tagad! 2 snsdeHs ay
T 5§
Iudad dyEl & aie | FgfaRad fGeddl F 9 98 3o g -

1. BYT 1 AR 1 EHTFE '

2. YA | AR 11 SF AT &

3.HYT 1 el g, feg Py 1 TTad B |
4. T T, g I I T R

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31829] Question Description : dwbv_pg_gp4_eng_2_q33
2[Option ID=31830]

3[Option ID=31831]
4[Option ID=31832]

Sl. No.34
QBID:4201034

Digital signature service that has been launched on Aadhar platform is called

1. DigiSignDesk
2. eSignDesk

3. OnlineSignDesk
4. GoogleSignin

1)
(2)
(3)
(4)

fafored geaRr a1 o SR O (Wieh) T URY a1 141 §, Seard o

IR EEIRERELH

2. 3ETew

3. HAEIEE IS
4. TS

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=31833] Question Description : dwbv_pg_gp4_eng_2_q34
2[Option ID=31834]
3[Option ID=31835]
4[Option ID=31836]

Sl. No.35
QBID:4201035




The IT (Amendment) Act, 2008 aimed at strengthening the law to combat cyber crime, came into force in India on

1. 27 - October - 2009
2. 27 - October - 2008
3. 17 - October - 2009
4,17 - October - 2008

(1) 1
) 2
3) 3
(4) 4

-1 U8 WEie] (GEieF) SHfafad, 2008, @1 359 SRR SRy § Fued g s 1 Bfigt @) @ 9=ed s
YT, HRd H &d Jaa | 3

1. 27 3faZaR 2009
2. 27 SaEER 2008
3.17 3fZER 2009
4,17 3dCaR 2008

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31837] Question Description : dwbv_pg_gp4_eng_2_q35
2[Option ID=31838]

3[Option ID=31839]
4[Option ID=31840]

Sl. No.36
QBID:4201036

Given below are two statements:

Statement |: One of the ways to control greenhouse gas emissions is by encouraging energy efficiency throughout society
in our country.

Statement II: Improving energy efficiency has significant environmental benefits.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

(1) 1
(2) 2
(3) 3
(4) 4




BERCIE IR
DY - |- U U H G HAN H Hull Gl I gegrdl o1 Ui 5139 19 Sl B HafHd & ol td i 5 |
T - 11 : Sl &l H GUR [T 9H & Howaey ugiaxviy =ff 9§ 9gd e oM g gl
ST YAl & Ha® B FgfaRad [Gdedl o 9 98 SW 4 -
1.9 1 3R 1| GH 9E B
2. @Y | R 11 Gl AT B
3. T I TE R, g P 1T B |
4. T TTAA T, g YA 1 T8 B

1)
(2)
(3)
(4)

A W N R

1[Option ID=31841] Question Description : dwbv_pg_gp4_eng_2_q36
2[Option ID=31842]
3[Option ID=31843]
4[Option ID=31844]

Sl. No.37
QBID:4201037

Given below are two statements:

Statement |: Toxicodynamics refers to the distribution of chemicals in the body.

Statement |I: Toxicokinetics refers to the process by which chemicals produce effects in the body.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

1)
(2)
(3)
(4)

A W N R

FYF - | ; AHATAH! GFH (D ISEAT ) BT aradd IRR H W0 & AR 4 81
T - 11 ; AT fagH ElliPieE-ica) &1 dredd T9E-! gR1 IRR 8 THE 3dd &1 & UHH 4 8l
Iudad dyHl & cie | FefaRad fGeddl § 9 98 3 g -

1. @Y AR 11 GF TR B

2. YT AR I GHITAd &

3. %Y 1 el g, fg dYF 1 TTad § |

4. A T, g FY I TR B

1)
(2)
(3)
(4)

A W N =

1[Option ID=31845] Question Description : dwbv_pg_gp4_eng_2_q37
2[Option ID=31846]




3[Option ID=31847]
4[Option ID=31848]

Sl. No.38
QBID:4201038

Light water nuclear reactors use the following moderator:

1. Ordinary water H;O
2. Graphite

3. Heavy water D;0
4. Pressurized water

1)
(2)
(3)
(4)

e T &5 AT Wl e & 0 7 Feee 7 9 9 T S 8

1. GIYRYT S (H,0)

2. UmTge

3. YRl 91 (D,0)
4, TTEgE oId

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=31849] Question Description : dwbv_pg_gp4_eng_2_q38
2[Option ID=31850]
3[Option ID=31851]
4[Option ID=31852]

Sl. No.39
QBID:4201039

Which of the following are true about the hard water?

A. Hardness in water can occur in both surface and underground waters.
B. Hardness increases the cleaning efficiency of water.

C. It is caused by carbonates of magnesium and calcium.

D. Hard water is considered as safe for human consumption.

E. Hard water causes scaling in water distribution systems.

Choose the correct answer from the options given below:

1.A,C, DandE only
2. A, Cand E only

3.B,C, D and E only
4. A, B, D and E only

1)
(2)
(3)
(4)

A W N R




HoR §d & R H [gifed § Y -4 By Gl 2
A. 96 @1 BBRaT U8 3R YfirTd 9id a1 & 8 gad! B
B. BA R U ST 1 W&ITeH &7 9gdl &
C. HHiTE SR Sieaad & ®eEi-c ¥ U8 PIRkd sidi ¢
D. B3R oicl HIFd & IR & [l GRI&d HHT SIdl g |
£ TOR 9el 9§ o fIeRvl Jureht & 2o & W 31
i< f&T 70 fadedi # 9 981 ST I -

1. ®ad A, C D 3R E

2. Bat A, C 3R E

3. % B, C, D ARE
4, BATA, B, D AR E

1)
(2)
(3)
(4)

A W N R

1[Option ID=31853] Question Description : dwbv_pg_gp4_eng_2_q39
2[Option ID=31854]
3[Option ID=31855]
4[Option ID=31856]

Sl. No.40
QBID:4201040

The Sustainable Development Goals (SDGs) are intended to be achieved by the year

1. 2025
2.2027
3.2029
4.2030

1)
(2)
(3)
(4)

A W N R

gyRuiig famrg deal oy 2 o) &1 Fgifed § 4 fed ay a® uid &g SF1 82

1. 2025
2.2027
3. 2029
4. 2030

1)
(2)
(3)
(4)

A W N R

1[Option ID=31857] Question Description : dwbv_pg_gp4_eng_2_q40
2[Option ID=31858]
3[Option ID=31859]
4[Option ID=31860]

Sl. No.41
QBID:4201041




In the twenty first century, higher Education development in India should focus on
A. Access and Equity

B. Single domain government aided universities

C. Market driven fee structure and quality

D. Accountability and quality

Choose the correct answer from the options given below:

1. A and D only
2.B and C only
3.B and D only
4.Cand D only

1) 1
(2) 2
(3) 3
(4) 4

21d1 98l H HRd H 3= e fde™ & dsidg gH 9z
A, ATt Td g
B. Tohd SHfU&H aTd W] Yeradl U fayfaemag

C. SR U Yeb 91 Ud Iura]

D. SdlEGe! Ud [Urad]

o fEU U fadheal 9 98 S g -
1.®%dd A AR D
2. ®ad B 3R C

3. WA B 3R D
4.%Had CAND

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31861] Question Description : dwbv_pg_gp4_eng_2_q41
2[Option ID=31862]

3[Option ID=31863]
4[Option ID=31864]

Sl. No.42
QBID:4201042




Match List | with List 11

List | (Verticles of Higher Education Commission of
India(HECI)) List Il (Name of the Verticle)

A. First verticle of HECI I. General Education Council(GEC)

, Il. National Higher Education Regulatery Council
B. Second verticle of HECI
(NHERC)

C. Third verticle of HECI Ill. National Accreditation council (NAC)

D. Fourth verticle of HECI IV. Higher Education Grants council (HEGC)

Choose the correct answer from the options given below:

TA-ILB-IILC-1IV,D-1
2ZA-NLB-1,C-1IV,.D-1
A-ILB-IV,C-1Il,D-I
4 A-NLB-IV,C-1I,D-1

1)
(2)
(3)
(4)

A W N R

Tl -1 &1 gl -1l ¥ GHfed ST :

g;ﬂ%wgaiaﬁ{m&na@ﬂmaiﬁ?ﬁ_”m%m
?.ﬁmﬁmmﬁuuﬂm |, gra e ufwe S S )
B. U9 3 I 313 & gy u=mar 1. ¥ = e s aReg
@) (@@ TFE ¥R )
f'%ﬂgﬁl&ﬂgﬁmm 1. TFT TeAdTa URug (1)
D.TT S 1 oS &1 it y=mmar Iv. 3= T8 SHEH uRug g 5
@) off T

< fgu e Pt & 9 9g IR g

T.A-I,B-1,C-1V, D-1
2ZA-NLB-1,C-1V, D-1
A-ILB-IV,C-1l, D-1
A A-NLEB-IV,C-Il, D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=31865] Question Description : dwbv_pg_gp4_eng_2_q42
2[Option ID=31866]
3[Option ID=31867]
4[Option ID=31868]

Sl. No.43
QBID:4201043




Given below are two statements:

Statement |: Conventional education uses traditional teaching-learning methods in which teachers and learners are involved
by interacting in a face-to-face manner in the classroom.

Statement II: In active learning the timely feedback from either the instructor or fellow students is not critical to the learning
process.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4. Statement | is false but Statement Il is true

(1) 1
(2) 2
(3) 3
(4) 4

IR EIC AT =S

BY - | - URURE R1e01 Ut WORAT fRieor i ufaftat & ugn & § foad RIe@ 3R firmed sarse § -
A a1d T § IRER Haig &3 & J1ed I 218 8id ol

DY - 11 : FpT T H TS 3dT Feam! T U GHues Hagf S ufpar & Rig Aeau! et St B
Iudad Syl & 3Tl H FaftRad fadedl # 9 98l S| -

1. BYA | 3R 11 §H1 98l B

2. @Y | R 11 Gl AT B

3. BRI 8, g S I T & |

4. T TTAA T, g YA 1 T8 B

1)
(2)
(3)
(4)

A W N R

1[Option ID=31869] Question Description : dwbv_pg_gp4_eng_2_q43
2[Option ID=31870]
3[Option ID=31871]
4[Option ID=31872]

Sl. No.44
QBID:4201044




Which of the following ancient texts relate to Law?

A. Grihya Sutra

B. Nyaya Sutra

C. Dharma Sutra

D. Sarhkhya pravacana Sutra

Choose the correct answer from the options given below:

1. A, Cand D only
2. A and Conly
3.4 B, Cand D
4.B and D only

1) 1
(2) 2
(3) 3
(4) 4

Fafafad oF-4 udE gy fafd € Jefia 82
A TR
B. <IT9
C. 9 I

D. Tiel Uaa T

o fGU U fadheal & 9 9 SUgad SR & 994 i -

1.HAA A, C 3R D
2. ®Bad A MR C
3.A, B, C3HRD

4.%ad B 3R D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31873] Question Description : dwbv_pg_gp4_eng_2_q44
2[Option ID=31874]

3[Option ID=31875]
4[Option ID=31876]

Sl. No.45
QBID:4201045




The Act of Incorporation passed by lord Canning in February, 1857, provided for the establishment of which of the following
universities?

A. Calcutta
B. Delhi

C. Bombay
D. Madras

Choose the correct answer from the options given below:

1.B, Cand D only
2. A and D only

3.A Cand D only
4. A Band D only

(1)
(2)
(3)
(4)

A 1857 H @18 ST g1 UTid a7 T 718 THEEH (3-@RUReH) fafam ¥ Fafafag e fGyfeenaat &t s of 1t o

A W N R

A. eIl

B. feeeit

C. did

D. HalH

=< feu 7Tu fadeal 5 9 98l IR 9 -
1. ®ac B, C AR D
2.Bad A 3R D

3. AT A, C 3R D
4.%HaAA BIARD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31877] Question Description : dwbv_pg_gp4_eng_2_q45
2[Option ID=31878]

3[Option ID=31879]
4[Option ID=31880]

Sl. No.46
QBID:4201046




Read the below passage and answer the following questions

The momentum of change across India is evidenced in the enthusiasm among India's youth. The growth of civil
society organisations, aspirations of youth legislators, and participation of activists are grounded in the market. The
momentum of change across India thus is presented as the politics of hope that is brought about by the power of the
market. We must also note the articulation of the sense of possibility of hope that has been made possible by the market
such that everyday, Indians can leave their village in the hope for something better waiting for them in their future. The
narrative of continual progress and belief in the future thus are intertwined with the individual freedoms that have been
brought about by the market. Belief in the future made possible through self-help and participation in the market is
synonymous with new opportunities. This sense of possibilities then is juxtaposed in the backdrop of welfare services and
public support, which are portrayed as being out of sync with the new imagination of a new empowered India. The story of
an India is that of liberated aspirations made possible by economic reforms. This is further improved by the state based
politics of public welfare and public support. The promise of India in its youth is marked by liberalisation and market reforms.
The miracle of market holds key to the future of India.

T F1 ufeu ofiT ust F I difere

Tl yRa # uRkadd &1 W' YRAG gara | I & ©U J uRdigd gal ol fafde aemdt @nsHl o faem, gar f&f-
fafara @1 bl R dEadis @ YReR & 9a § a6R g1 39 Y6R Q¥ HRd H URad- & 9d7 &I 1= &1 Aa-11d &
Y § U 41 91 & SR 98 B deR &1 Wied &l 81 85 98 HI e &A1 J1f8Y @ SR &1 YHIEAl & |y @ [y
Hfieaiad 1 99k GRT 59 UHR TYT 141 741 & [ YRAHE 30 s8R HaW &1 U | 301 7id SIs®2 397 o 9od &
=4 YR Idd WIS &1 AR I Hiasy § e oafdd &1 39 Taaael 4 deg e & ol seR gRT UeH fpu mu 81 ©-
qe/Edl 3R §eR # YAfieR] & Aregs ¥ 94d gofl Hidsy # fayrg v SRl &1 gaFEr g1 Suiame & 39 dY ®f o9
DGR JaT AR oH FearT & YBYH H TRYT og1 91ar ¢ d 98 U I=1dd YR S 5 ded-l & Ty SId Ul &rdl ¢
YIRd B MY T8 & o il YuRI & R qad Sbiand Hyd gl urdi| e bedi 3R o9 §924H S J0d-H1HIRd JeH-Hid &
BRI 3EH AR UF GUR g3 8| R @l T 1 TR IGRIBY AR el YR RT UREd gl & | a9R § gH ard
@R | g URd & Higw [iEa g

The change witnessed in India now is due to

1. Social grounding

2. Political interference

3. The market momentum
4. Youth migration

1) 1
(2) 2
3) 3
(4) 4

g YT H T3gHH URadd HT PRI 2 -
1. A HITEH
2. TeHiEaE gaay

3. SR a7
4. gaT WaeH

(1) 1

) 2
3) 3
(4) 4

1[Option ID=31881] Question Description : dwbv_pg_gp4_eng_2_q46



2[Option ID=31882]
3[Option ID=31883]
4[Option ID=31884]

Sl. No.47
QBID:4201047

Read the below passage and answer the following questions

The momentum of change across India is evidenced in the enthusiasm among India's youth. The growth of civil
society organisations, aspirations of youth legislators, and participation of activists are grounded in the market. The
momentum of change across India thus is presented as the politics of hope that is brought about by the power of the
market. We must also note the articulation of the sense of possibility of hope that has been made possible by the market
such that everyday, Indians can leave their village in the hope for something better waiting for them in their future. The
narrative of continual progress and belief in the future thus are intertwined with the individual freedoms that have been
brought about by the market. Belief in the future made possible through self-help and participation in the market is
synonymous with new opportunities. This sense of possibilities then is juxtaposed in the backdrop of welfare services and
public support, which are portrayed as being out of sync with the new imagination of a new empowered India. The story of
an India is that of liberated aspirations made possible by economic reforms. This is further improved by the state based
politics of public welfare and public support. The promise of India in its youth is marked by liberalisation and market reforms.
The miracle of market holds key to the future of India.

T 1 ufey i usl ¥ I difere

ol yRa # ulkadd &1 W' YRAG gara | Idg & ©U J uRdigd gal o) fafde aramadt @sHl o faem, gar f&f-
Faiarel 31 eiant 3R sEedisl Bt HrieRl & 9a 3 §6R 81 39 SR [ HRd 3 Uad- & 947 &1 =0 & Aa-iid &
w0 H U &dl Wil & AR 98 B aeR @1 Wi ddl 1 85 98 i Ale B 91fet & o= & $HEH & a1y @ WP
Hfieaa B 99X GRT 59 UPR GYT 141 741 & [ YRAHE 30 s8R HaW &1 U | 301 7id SIs®R 397 o 9od &
39 UHR Tdd WITd &1 A 3R HiIsy & ey aafdd $1 3+ Waaasi ¥ siddsg gid ¢ ol §eiR gRT UeH [t 7T 21 w@-
TeMdl 3R SR # YAGR] & A1ed ¥ 94d gl Hidy # {3y U SRl & gaErt g1 gyiane & 39 91y ®f 99
DAUGR] YaT AR o Fedi & JBYH H GRYq oa1 91ar ¢ df 98 U 9%1ad YR $I -5 ded-l & S SEI1d Ul &rdl 8|
YIRd $I MY 8 & & e YuRT & R qad ATbiand Hyd gl Urdi| e bedil 3R S 9 S J0-HHRd T &
BRI 399 AR AT FUR 51 8| HRI a1 & B TR SRS AR Fee FUR RT URAE il 6| §9R | 54 ardl
@R | g URd & Higw FiEa g

The change taking place in India is described as

1. Activism

2. Articulation

3. Politics of marketing
4. Politics of hope

(1) 1
(2) 2
(3) 3
(4) 4

YRd | gHaI URad- &1 e Fgifeed 5 9§ g T 1 @1 off 9@l 87

1. GichgIHDl
2. Wy Ao
3. fauuH 31 AeH
4. 3T B A1

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=31885] Question Description : dwbv_pg_gp4_eng_2_q47
2[Option ID=31886]
3[Option ID=31887]
4[Option ID=31888]

Sl. No.48
QBID:4201048

Read the below passage and answer the following questions

The momentum of change across India is evidenced in the enthusiasm among India's youth. The growth of civil
society organisations, aspirations of youth legislators, and participation of activists are grounded in the market. The
momentum of change across India thus is presented as the politics of hope that is brought about by the power of the
market. We must also note the articulation of the sense of possibility of hope that has been made possible by the market
such that everyday, Indians can leave their village in the hope for something better waiting for them in their future. The
narrative of continual progress and belief in the future thus are intertwined with the individual freedoms that have been
brought about by the market. Belief in the future made possible through self-help and participation in the market is
synonymous with new opportunities. This sense of possibilities then is juxtaposed in the backdrop of welfare services and
public support, which are portrayed as being out of sync with the new imagination of a new empowered India. The story of
an India is that of liberated aspirations made possible by economic reforms. This is further improved by the state based
politics of public welfare and public support. The promise of India in its youth is marked by liberalisation and market reforms.
The miracle of market holds key to the future of India.

T 1 uf3T oy ust & Iww diftre

Il yRd # uRadd &1 Yo YRAG gard | I & $U J uRdigd gal ¢l fafde amdt dneHl o fae™, gar f&f-
Fafara @i Sdian R dredis & YRR & 9a H a6k g1 39 Y6R U HRd H URad- & Sd7 &I 120 &1 Ae-1d &
Y § U a1 91 & SR 98 B d9R &1 Wied &dl ol 85 98 HI e &A1 difey & 1= &1 YHIEHT & sy @ [y
Hfieaaa B 99k GRT 59 UHR SYT 11 741 & [ YRAE 30 g8d? HaW &1 U & 301 7id SIs®: 3797 o 9&d &
=4 YR Idd W &1 AR 3T Hiasy § ey i #1 39 Taaaell 4 a9 B & ol seR gRT UeH fpu mu 81 ©-
TEal R 99R § YAfeRl & f19 ¥ Y4q g Hiaw o fay U aRi &1 gaEmdt g1 9ya-st & 39 91 &f 99
DGR JaT R SH FearT & gBYH H TRYT og1 S1ar ¢ df 98 U I=1ad YR B 5 ded-l & Y SId Ul &irdl ¢
YR B Y T & b S1idie GURI & gRI Had A& Y4 8l URN| did Hedvl AR 91 G544 S Uod- ARG Ta-id &
BRI 3EH AR UE GUR g3 & | R a1 37 &1 TR IGRIBU AR SoE YR R1 UREd gl & | 99 § gH ard
DR H g HRd @ Higw [iEa g

The youth's belief in the future is propelled by

1. Disrupted progress

2. Self-help

3. Restricted freedom

4. Unsynchronised imagination

1) 1
(2) 2
3) 3
(4) 4




yfess # garar @t s Faifod 3§ foad uonfed gidi 82

1. TG W

2. W-FEEd!

3. UiaEied wdaa
4. OASGIS Dl

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31889] Question Description : dwbv_pg_gp4_eng_2_q48
2[Option ID=31890]

3[Option ID=31891]
4[Option ID=31892]

Sl. No.49
QBID:4201049

Read the below passage and answer the following questions

The momentum of change across India is evidenced in the enthusiasm among India's youth. The growth of civil
society organisations, aspirations of youth legislators, and participation of activists are grounded in the market. The
momentum of change across India thus is presented as the politics of hope that is brought about by the power of the
market. We must also note the articulation of the sense of possibility of hope that has been made possible by the market
such that everyday, Indians can leave their village in the hope for something better waiting for them in their future. The
narrative of continual progress and belief in the future thus are intertwined with the individual freedoms that have been
brought about by the market. Belief in the future made possible through self-help and participation in the market is
synonymous with new opportunities. This sense of possibilities then is juxtaposed in the backdrop of welfare services and
public support, which are portrayed as being out of sync with the new imagination of a new empowered India. The story of
an India is that of liberated aspirations made possible by economic reforms. This is further improved by the state based
politics of public welfare and public support. The promise of India in its youth is marked by liberalisation and market reforms.
The miracle of market holds key to the future of India.

TR F1 ufey ot ust F I difere

Il yRa # ulkadd &1 W' YRAG gard | Idg & ©U J uRdigd gal ol fafde aramadt @sHl o faem™, gar f&f-
Faidrel @1 diant 3R sEaqisl B YRG! & 9a 3 §eR 81 39 PR QX HRd 3 Udd- & 947 @I =0 & Ja-id &
0 § T 51 91 & SR 98 B 9WR @I Wiad Bl 5l 55 98 H e B Jifey & SR ST $uE & aiy @t |y
Hfieaa B 99 GRT 59 UHR TYT 11 741 & [ YR 30 s8R HaW &1 U | 301 71id SIs®: 307 of 9od &
34 UHR Tdd WITd &1 A 3R HTT & 3T Afed BT 37 Waaasi ¥ 3das gid ¢ o seR gRT UegH {6y T &1 -
TeMdl 3R §eR # YAfieR] & Aregs ¥ 94d gofl Hidsy & fayrg AU SiawRi & gaErt g1 Syiame & 39 d1Y 3 o9
DGR JaT AR oH Fear & g8y H TRYq og1 91ar ¢ d 98 U I=1ad YR $I -5 ded-l & Ty SHd Ul &rdl ¢
YIRd SI MY 8 © fob aides YuRT & gR1 qad SATbiand Hyd gl urdi| e bedil 3R S 9 S IJ0d-HHIRd Jaid &
BRI 399 AR AT FUR 51 &1 HRI Ja1 & B TR IERIG0 AR T YR FRT URSE il 6| §9R | 54 ardl
@R | g URd & Higw FiEa g

Which of the following has strengthened the people's belief in the future?

1. Public welfare policies

2. Narratives of backwardness
3. Limited opportunities

4. Absence of public support




(1) 1
(2) 2
(3) 3
(4) 4

Fgifed o ¥ foge SR yfas o 591 B o1 T83 53 o7

1. Tl BTl gl
2. s & =
3. HIffd 3aeR

4. 5 GHYF @ UG

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31893] Question Description : dwbv_pg_gp4_eng_2_q49
2[Option ID=31894]

3[Option ID=31895]
4[Option ID=31896]

Sl. No.50
QBID:4201050

Read the below passage and answer the following questions

The momentum of change across India is evidenced in the enthusiasm among India's youth. The growth of civil
society organisations, aspirations of youth legislators, and participation of activists are grounded in the market. The
momentum of change across India thus is presented as the politics of hope that is brought about by the power of the
market. We must also note the articulation of the sense of possibility of hope that has been made possible by the market
such that everyday, Indians can leave their village in the hope for something better waiting for them in their future. The
narrative of continual progress and belief in the future thus are intertwined with the individual freedoms that have been
brought about by the market. Belief in the future made possible through self-help and participation in the market is
synonymous with new opportunities. This sense of possibilities then is juxtaposed in the backdrop of welfare services and
public support, which are portrayed as being out of sync with the new imagination of a new empowered India. The story of
an India is that of liberated aspirations made possible by economic reforms. This is further improved by the state based
politics of public welfare and public support. The promise of India in its youth is marked by liberalisation and market reforms.
The miracle of market holds key to the future of India.

Ty 1 uf3T oy ust F 9w diftre

ol yRa # uRadd &1 Yo YRdIG gard | I & ©U J uRdied gial o) ffda aemdt del o fae™, gan f&f-
Fafara @1 Sdian R dradis] & HRGRI & ga H a6k g1 39 Y6R U HRd H URad- & Sd7 &I 120 &1 Ae-1d &
Y § U a1 91 & SR 98 B d9R &1 Wied &dl ol 85 98 HI e &A1 difey & 1= &1 YHIEHT & sy @ [y
JHfieaad Bl I9R GR1 39 UHR GYd §-11 741 & o6 YR 30 d8d? YA &1 UmE § 3041 71id SIs®R 397 o 9od &
=4 YR Idd W &1 AMegH 3T Hiasy § ey i &1 39 Taaaeil 4 idag e & ol seR gR1 UeH fpu mu 8| ©-
TEal R 99R § YAfeRl & f19 ¥ Y4q g Hiaw o fay U aRi &1 gaEmdt g1 9ya-st & 39 91 &f 99
DGR JaT R SH FearT &1 Y H TRYq og1 S1ar ¢ 4 98 U 9= YR B 5 ded-l & Y SHId Ul &irdl ¢
YR B MY U ¢ b S1ie GURI & gRI Had A& T4 g URN| did Hedv AR 9 9HdA S Iod- ARG Ja-1d &
DR 38H AR S GUR g3 & | HRATI @l 37 &1 JAT=N IGRIGU AR SoE YR R1 UREd gl & | 99R § 8H ard
TA@R H g YR @1 Hiaw [ g




For a new empowered India, the passage has highlighted the importance of

1. Controlling the market power

2. Political reforms

3. Urbanisation

4. Economic refarms and liberalisation

1)
(2)
(3)
(4)

U YREd YR & U 39 T § Fgifed O U $9d 98d &l S9FR [&d1 191 87
1. 9K @1 igd @l a0 BT
2. SIS GHUR

3. MRS
4. 1@ GUR HR GRG0

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=31897] Question Description : dwbv_pg_gp4_eng_2_q50
2[Option ID=31898]
3[Option ID=31899]
4[Option ID=31900]

Paper II : 80-Geography

Sl. No.1
QBID:80001

Which of the following geomorphic phenomena moves fastest?

1. Mud flow

2. Earth flow

3. Debris Avalanche
4. Solifluction

1)
(2)
(3)
(4)

Frofafaa § o1 @ yanefae aRae digan U 4 9fea gt 82

1. Udh Udlg
2. 4HyarE
3. Aol fgHgad
4. FETEU

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=32301] Question Description : dwbv_pg_geo_eng_2_q1
2[Option ID=32302]




3[Option ID=32303]
4[Option ID=32304]

Sl. No.2
QBID:80002

How many minimum seismic stations data is required to map the epicentre of earthquake?

1. One
2. Two
3. Three
4. Four

1)
(2)
(3)
(4)

A W N R

YU & 3fidbg & AHHA & Y HH U $H (- YUl dgl & SHidbs] dI HG=ddl ldl § ?

1.0&®
2.9

3.0H
4.9R

1)
(2)
(3)
(4)

A W N R

1[Option ID=32305] Question Description : dwbv_pg_geo_eng_2_q2
2[Option ID=32306]
3[Option ID=32307]
4[Option ID=32308]

Sl. No.3
QBID:80003

Who stated that valley side slope gives a clue to the relative importance of exogenic and endogenic processes?

1. Davis
2. Penck
3. King
4. Gilbert

1)
(2)
(3)
(4)

A W N R

o ®er U1 & 9ret oY o1a Sfgeidg 3R Sfaei—d ufsearsil & 91uféd Ag@ &1 dod WaH &3dl 67

1. 8faq
2.U&%
3. T
4. faad

1)
(2)
(3)
(4)

A W N R




1[Option ID=32309] Question Description : dwbv_pg_geo_eng_2_q3
2[Option ID=32310]
3[Option ID=32311]
4[Option ID=32312]

Sl. No.4
QBID:80004

Which of the following is not directly related to magnitude of earthquake?

(1)
(2)
(3)
(4)

1. Length of fault section that broke

2. Damage severity

3. Depth of focus

4. Amount of energy released by earthquake.

A W N R

Fufaiad H @11 yobu & gim 3 yaeq: J6iid 980 ¢ 2

1)
(2)
(3)
(4)

1. foefea Y= @S @t deg
2. &fd Pt udsar

3. g B TES
4, YU T IFToid Hell &l AE

A W N R

1[Option ID=32313] Question Description : dwbv_pg_geo_eng_2_q4
2[Option ID=32314]
3[Option ID=32315]
4[Option ID=32316]

Sl. No.5
QBID:80005

Which atmospheric gas is primary ingredient of photochemical smog?

1)
(2)
(3)
(4)

1. Carbon dioxide
2. 0zone

3. Argon

4. Methane

A W N =

9o I @ O argdseg 1 TR0 40 $iet o IS du9es § 2

(1)
(2)
(3)
(4)

1. BIE- SSHATES
2. A
3.
4. 79

A W N R




1[Option ID=32317] Question Description : dwbv_pg_geo_eng_2_q5
2[Option ID=32318]
3[Option ID=32319]
4[Option ID=32320]

Sl. No.6
QBID:80006

Which is the correct sequence of height of tropopause (in km) over polar areas, over middle latitudes and over equator?

1.9,11,16
2.19, 21, 26
3.5,8 20
4.10, 20, 30

11
(2) 2
3) 3
(4) 4

Y[d &=, Te e 3R YHE W & SR &Y 91 @) & Sk (i S &1 98 sa a2

1.9,11,16
2.19,21,26
3.58,20
4.10,20,30

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32321] Question Description : dwbv_pg_geo_eng_2_q6
2[Option ID=32322]

3[Option ID=32323]
4[Option ID=32324]

Sl. No.7
QBID:80007

From the Earth's heat budget, out of total incoming radiation, what percent is reflected back to space?

1. about 10 percent
2. about 20 percent
3. about 30 percent
4. about 50 percent

(1) 1
(2) 2
3) 3
(4) 4

T2 & I S9ic & Bl Had fare0 § Y et fa=ra aroy sialke § wafdd gl o 82

1. TRTHT 10 Wid=d
2. TATHIT 20 Hfa=rd
3. TIYAT 30 TfcErd
4. TATHAT 50 Hfa=Td

(1)1
(2) 2
(3) 3




(4) 4

1[Option ID=32325] Question Description : dwbv_pg_geo_eng_2_q7
2[Option ID=32326]
3[Option ID=32327]
4[Option ID=32328]

Sl. No.8
QBID:80008

Which type of lightening has potential to cause more damage to life and property?

1. Inter-cloud lightning

2. Positive cloud-to-ground lightning
3. Negative cloud-to-ground lightning
4. Intra-cloud lightning

1)
(2)
(3)
(4)

g PR & afsd d S 2k 9ol ot i & g4 &1 dued et &2

1. HE:-HY Af3q

2. YIS BY-U-Ydd dfaq
3. BTG HY-H-Ydd aiSq
4. HR1-HY dfesq

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=32329] Question Description : dwbv_pg_geo_eng_2_q8
2[Option ID=32330]
3[Option ID=32331]
4[Option ID=32332]

Sl. No.9
QBID:80009

Which one of the following approaches advocates to think that the most effective philosophical ground for protecting the
natural environment is to think in terms of protecting natural beauty?

1. Deep ecology

2. Enviromental pragmatism
3. Social ecology

4. Enviromental aesthetics

(1)
(2)
(3)
(4)

FufeiRad # ¥ fag Iur™ &1 JA1 & 6 Uidfdd gaiarur & W& & (oY alfee WUl G YR Uididd died &l
Qe B @ GeH H [GaR d18 2

1. e qTiRfae!

2. JOiaeuig sgagiRddr
3. gt arifRufaet
4. yufaeofig Gicdsry

A W N R

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=32333] Question Description : dwbv_pg_geo_eng_2_q9
2[Option ID=32334]

3[Option ID=32335]
4[Option ID=32336]

Sl. No.10
QBID:80010

Which one of the following has maximum biomass in terrestrial ecosystem?

1. Tertiary consumers

2. Secondary consumers
3. Primary consumers

4. Producers

(1)1
(2) 2
(3) 3
(4) 4

Ui Uk oF & 9 H € 169 H Sffiear SeHR B8 2

1. qarg JUHIET
2. fgdoe Iuvia
3. U Iuuied
4. 3AEH

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32337] Question Description : dwbv_pg_geo_eng_2_q10
2[Option ID=32338]

3[Option ID=32339]
4[Option ID=32340]

Sl. No.11
QBID:80011

Manufacture of biomass by organisms that eat plants is termed as:

1. Primary productivity

2. Net primary productivity
3. Secondary productivity
4. Tertiary productivity

(1) 1
(2) 2
(3) 3
(4) 4

UTey Y S Sigeit grr i SlauR seaar &

1. UTUAS JAGHl

2. Iz YD IAIgHdT
3. fado® SacEar

4. Jdig IdIEdhdl




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32345] Question Description : dwbv_pg_geo_eng_2_q11
2[Option ID=32346]

3[Option ID=32347]
4[Option ID=32348]

Sl. No.12
QBID:80012

In disaster reduction and management which one of the following is part of post-disaster stage?

1. Vulnerability analysis
2. Disaster prediction
3. Disaster warning

4. Rehabilitation

1)
(2)
(3)
(4)

A W N =

HIUGT AR UG UaY H Ffeigd # 9 & Mug] - Sle el o g g ?

1. VeI fazeyn
2. JTUeT Higearoil
3. HI9ET ddra-
4. qarg

1)
(2)
(3)
(4)

A W N R

1[Option ID=32349] Question Description : dwbv_pg_geo_eng_2_q12
2[Option ID=32350]
3[Option ID=32351]
4[Option ID=32352]

Sl. No.13

QBID:80013
Which one of the following measure represents perhaps the most sensitive barometer of the fitness of the social
environment for human life?

1. Maternal Mortality Ratio
2. Crude death rate

3. Child mortality rate

4. Infant mortality rate

1)
(2)
(3)
(4)

A W N R




Fafafad o @1 aHa Siad &g aHieis Tafanr &1 Sugdadd] & YYad: aiad Jae-I=id Y@ (@RHe) & ?

1. AIq® Hg U
2, IURSPd g T
3. A G

4. R R

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32353] Question Description : dwbv_pg_geo_eng_2_q13
2[Option ID=32354]

3[Option ID=32355]
4[Option ID=32356]

Sl. No.14
QBID:80014

Who among the following first used the term Ecumene and Non-ecumene to distinguish between inhabited and unhabited
portion of earth’s surface?

1. Romans
2. Greeks
3. German
4. French

(1) 1
(2) 2
3) 3
(4) 4

YA & (a3 A HFT & did fa4e B gq UaegHA SR AH-UagHA Dsal &1 YA wawyH Hafaiad # fow- foar ur

1. 344
2. A
3. 9
4. 74

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32357] Question Description : dwbv_pg_geo_eng_2_q14
2[Option ID=32358]

3[Option ID=32359]
4[Option ID=32360]

Sl. No.15
QBID:80015

Which one of the following geographer famously stated that 'population is the point of reference from which all the other
elements are observed and derive significance and meaning™?

1. ). 1. Clarke

2. G. T. Trewartha
3.E A Jones

4. W. Zelinsky

1) 1




) 2
3) 3
(4) 4

FafRed & 9 [ yfiiada &1 Tieig &3 § [ o-ae gt deH oG 8 o 9+t o7 sragal &1 Haon far <l § 3R

1.9, 33, aTd
2.5 &, feanf
3.30. 99

4. &g Sifeied!

1)
(2)
(3)
(4)

A W N R

1[Option ID=32361] Question Description : dwbv_pg_geo_eng_2_ql15
2[Option ID=32362]
3[Option ID=32363]
4[Option ID=32364]

Sl. No.16
QBID:80016

Which of the following does not represent functions of the town?

1. Culture and recreation
2. Transportation

3. Fishing and farming

4. Resource Extraction

1)
(2)
(3)
(4)

fgfefad 5 9 & 91 TR &1 98y T8 8 2

1. TP TA 3R FARSH
2. giaed

3. Jo SR BIET
4. Fareq Fepun

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=32365] Question Description : dwbv_pg_geo_eng_2_q16
2[Option ID=32366]
3[Option ID=32367]
4[Option ID=32368]

Sl. No.17
QBID:80017




Identify the World's leading country in the exports and imports of commercial services in 2021 as per World Trade
Organisation (WTO) report.

1. USA

2.India
3. China
4. Japan

1) 1
(2) 2
3) 3
(4) 4

&g 31.3M1. RUIE & 38R gy 2021 ¥ anforicas Tamsit & Fafa 3iR omaa & @y & «1fm ¢ 31 ugaH sifau)

1. T T AT
2. HRd

3.9

4. S9H

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32369] Question Description : dwbv_pg_geo_eng_2_ql17
2[Option ID=32370]

3[Option ID=32371]
4[Option ID=32372]

Sl. No.18
QBID:80018

Which of the following is not one of the broad five socio-economic themes in Aspirational Districts Programme?

1. Health and Nutrition

2. Financial Inclusion and Skill Development
3. Basic Infrastructure

4. Import Substitution and Export Promotion

1) 1
(2) 2
3) 3
4) 4

3l fora e & U s gEfse e vl @i § FefaRdd e ae 18 e 2

1. WY U4 gy

2. fawitg TAeRH Ud oi9d fde™
3. SIYRY SHTEH

4. ST YicRToH Ud fFaid wicre-

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32373] Question Description : dwbv_pg_geo_eng_2_q18
2[Option ID=32374]

3[Option ID=32375]
4[Option ID=32376]




Sl. No.19
QBID:80019

Which one of the following highlighted that "An area is poor because it is poor"?

1. Gunnar Myrdal’s cumulative causation
2. Perroux's growth pole

3. Meadow's limits to growth

4. Rostow's stages of Economic Growth

1)
(2)
(3)
(4)

A W N R

TS &7 THIE & Tl 98 TR &' 5HP1 Fafdied # ¥ fogs gr1 6y a9 g g 2

1. 7ER Had &1 Gadi dride ([ER Heed diicicd oleRF)

2. Wi &7 gieg Ya (URIe A1 Uiel)

3. T @1 9fE @t dimne (s faftest € aiy)

4. I2Tod B A gl SR R Woldl Hb 3 HiHS A1Y)

(1)
(2)
(3)
(4)

A W N R

1[Option ID=32377] Question Description : dwbv_pg_geo_eng_2_q19
2[Option ID=32378]
3[Option ID=32379]
4[Option ID=32380]

Sl. No.20
QBID:80020

In which country magnetite ores are mined at Kiruna and Gallivare?

1. Sweden

2. Australia
3. Brazil

4, Canada

1)
(2)
(3)
(4)

A W N R

Fgfafad 4 9 (&9 <3 & e 3R eciian § BUese 30%® &1 3od-H (dl Jidl & ?

1. 5189
2. SRSTem

3. guile
4. ®-ls

1)
(2)
(3)
(4)

A W N R

1[Option ID=32381] Question Description : dwbv_pg_geo_eng_2_q20
2[Option ID=32382]




3[Option ID=32383]
4[Option ID=32384]

Sl. No.21
QBID:80021

In 2021, which country was the leading steel producer and exporter of the world?

1. Japan

2. China

3. USA

4. Australia

1)
(2)
(3)
(4)

A W N R

a4 2021 © 3y &1 ®H-91 G 3FI07 3T[ Id@G® 3R Fafdd o1 2

1. SO

2,949

3. Igad o SER@T
4, ARSfemn

1)
(2)
(3)
(4)

A W N R

1[Option ID=32385] Question Description : dwbv_pg_geo_eng_2_q21
2[Option ID=32386]
3[Option ID=32387]
4[Option ID=32388]

Sl. No.22
QBID:80022

Technopolies Silicon Forest and Silicon Valley are located near which cities, respectively?

1. Boston and San Francisco
2. 5ao Paulo and Seattle

3. Seattle and San Francisco
4. Seattle and Osaka

1)
(2)
(3)
(4)

A W N =

SeHuIieS ffeip i BRE AR fafdeH 91dl HH: fhd 25l # afud € 2

1. G 3R - wifRs!
2. Jr3fi urgar 3R fyued
3. Fyued SR T WifgD!
4. Thued 3R g

1)
(2)
(3)
(4)

A W N R




1[Option ID=32389] Question Description : dwbv_pg_geo_eng_2_q22
2[Option ID=32390]
3[Option ID=32391]
4[Option ID=32392]

Sl. No.23
QBID:80023

Identify the city from the following where 27" meeting of the Conference of Parties (CoP-27) took place?

1. Glasgow

2. Sharm EL-Sheikh
3. Madrid

4. Bonn

11
(2) 2
3) 3
4) 4

fafeiad # ¥ 39 2EY &I UgaIU forg ¥ ®ithy % urdle [@isidi-27) &t 27 df 46 g3 i ?

1. T

2. 9-3@ 2
3. 8fgs
4.9

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32393] Question Description : dwbv_pg_geo_eng_2_q23
2[Option ID=32394]

3[Option ID=32395]
4[Option ID=32396]

Sl. No.24
QBID:80024

Considering the food security, arrange the following sub-regions of Africa in descending order according to the percentage
of Prevalence of Undernourishment (PoU) (2018).

A. North Africa

B. Eastern Africa

C. Western Africa

D. Sub-Saharan Africa

1. D-B-A-C
2. B-D-C-A
3. C-D-B-A
4. B-D-A-C

(1) 1
) 2
3) 3
(4) 4




ATe P& IR 3R &d gy, Fufafad spie! Su-UG=l &1 =g+ TNl & Uad (U1 311 ) & Uia=d (2018) & H1UR W 3aRiel
Y (Ued 7H) § Fafed sifal

A. T 3BT

B. Jdl 3MIhIchT

C. OfEHT 3Mbidr

D. 3U-HERI 3B

i< feu 7Tu fadedl 5 9 98l IR 9 -
1. D-B-A-C
2.B-D-C-A

3. C-D-B-A
4. B-D-A-C

(1)
(2)
(3)
(4)

A W N R

1[Option ID=32397] Question Description : dwbv_pg_geo_eng_2_q24
2[Option ID=32398]
3[Option ID=32399]
4[Option ID=32400]

Sl. No.25
QBID:80025

Which of the following bocks are written by Alfred Thayer Mahan?
A. The Influence of Sea Power and History

B. The Life of Nelson

C. The Influence of Sea Power upon French Revolution and Empire
D The Geographical Pivot of History

1. A and D only
2.Cand D only
3.B,Cand D only
4. A, Band Conly

1) 1
(2) 2
3) 3
(4) 4




Fufeiad # ®F-U T&d ahs YRR HeH gRI fadl 1 § 2
A. & S o I Ui oS B
8. & TIEW o1 —eeH

C. & Sy 1% 1 R U hd Raieg=H UUs SURR
D. T feisivithad fUale b feed
i< f&u U fasedl 5 ¥ 981 3w g -

1. ®ad A AR D

2.%ad C R D

3. ®ad B, C AR D
4. HaAAA, B AR C

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=32401] Question Description : dwbv_pg_geo_eng_2_q25
2[Option ID=32402]

3[Option ID=32403]
4[Option ID=32404]

Sl. No.26
QBID:80026

Which of the following country is not considered as a Nation-State?

1. Belgium
2. Japan

3. Egypt
4, Sweden

1) 1
(2) 2
(3) 3
(4) 4

frafafad 7 9 fow 42 & ue AP-Is8 & © U F T8 AFT S S 2

1. dfcomg
2. §MaH
3.f
4. Wie

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32405] Question Description : dwbv_pg_geo_eng_2_q26
2[Option ID=32406]

3[Option ID=32407]
4[Option ID=32408]

Sl. No.27
QBID:80027




Identify the scholar who laid the foundation of the dichotomy of Systematic vs. Regional Geography.

1. Cook

2. Varenius
3. Kant

4. Darwin

(1) 1
) 2
3) 3
(4) 4

39 fagH &1 UgaH @ifor foRm ®Heas s UelRia 1d & fefaurem &1 sy W@ @

1.9
2. AT
3. @i
4. 31Md4

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32409] Question Description : dwbv_pg_geo_eng_2_q27
2[Option ID=32410]

3[Option ID=32411]
4[Option ID=32412]

Sl. No.28
QBID:80028

Who was the author of 77 Velumes of "Geographical Treaties"?

1. Ptolemy
2. Beatus
3. Strabo
4. Jerome

(1) 1
(2) 2
(3) 3
(4) 4

"SNhed dlegal” @I 17 dlegi & dEd B U7

1. TicH!
2.dleq
3. %4l
4.5RH

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32413] Question Description : dwbv_pg_geo_eng_2_q28
2[Option ID=32414]

3[Option ID=32415]

4[Option ID=32416]
|




Sl. No.29
QBID:80029

The scientific observations about the size, shape and circumference of the earth were made by Eratosthenes and Hipparchus
at which of the following place?

1. Tanais

2. Tyras

3. Abydos

4. Alexandria

1)
(2)
(3)
(4)

e SR R 3T U & PR, AT SR uRfY & &R & ayifae e Fafeied § € fog e R feu e 42

1. 9759
2. 219
3. TElsE
4. TSI

A W N =

1)
(2)
(3)
(4)

A W N R

1[Option ID=32417] Question Description : dwbv_pg_geo_eng_2_q29
2[Option ID=32418]
3[Option ID=32419]
4[Option ID=32420]

Sl. No.30
QBID:80030

Which of the following is not a humanistic geocgrapher?

1. Tuan
2.Kirk

3. Kropotkin
4, strabo

(1)
(2)
(3)
(4)

Fufaiad # 9 ®F AHadEK Yidadl el 6 ?

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=32421] Question Description : dwbv_pg_geo_eng_2_q30
2[Option ID=32422]




3[Option ID=32423]
4[Option ID=32424]

Sl. No.31
QBID:80031

The actual labour productivity of farms was compared with what could have been achieved under optimizing decision-
making by the farmers acting as rational economic persons. Which of the following geographer conducted this study?

1. Wright
2. White
3. Kirk

4. Wolpert

1) 1
(2) 2
3) 3
(4) 4

Wdl & ardid® &H Jdladdl $I Jo- diicd Hdd dfeddl & U H Hrid fbaHl g1 i uisan of sisiid & urd
@ &l Yol dTcll Jueiisd o WY B 715 1| FefaRad # ¥ fowg yicadr - g siergH faar ur?

1.33e
2. ®|5C
3. foo
4. qreqe

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32425] Question Description : dwbv_pg_geo_eng_2_q31
2[Option ID=32426]

3[Option ID=32427]
4[Option ID=32428]

Sl. No.32
QBID:80032

The productivity of rice in Punjab depends on availability of irrigation. Which type of relationship of a system can be
explained by the above given statement?

1. Series relation

2. Parallel relation

3. Feedback relation

4. Complex compound relation

1) 1
(2) 2
3) 3
(4) 4

Goltd H g1ad SdIGhadl [Hdls @ Judeddl IR R axdl g | Sudad dU- R [ddl YUl & by UHR & Yay S ARAT B
9@l | ?

1. ooft ey

2. GHHIGE H9Y
3. NI Jae
4. wifed affy Hay

1) 1
) 2




3) 3
(4) 4

1[Option ID=32429] Question Description : dwbv_pg_geo_eng_2_q32
2[Option ID=32430]
3[Option ID=32431]
4[Option ID=32432]

Sl. No.33
QBID:80033

Which one of the following sets of book and author is wrongly matched?

1. Human Geagraphy:A welfare Approach - D. M. Smith
2. Geography and Geographers - D. Harvey

3. Radical Geography - R. Peet

4. A Geographical Introduction to History - L. Febvre

1) 1
(2) 2
3) 3
(4) 4

Fafiiad & 9 ®F 9 e 3R 9@ 1 g g 6l 6 7
1. §FF TIUTHT: T dathaR Ui - 31, 7, &y
2. BT 3R SR - 21 81

3. A(EHd W -HR.UiE
4. T Thed gieaa ¢ RE - uahaal

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32433] Question Description : dwbv_pg_geo_eng_2_q33
2[Option ID=32434]

3[Option ID=32435]
4[Option ID=32436]

Sl. No.34
QBID:80034

Which of the following information is used in altimetric frequency graph?

1. Spot height

2. Density of population
3. Contour lines

4. Cumulative frequency

11
(2) 2
3) 3
4) 4

fufaiad § 9 @ - 9 gg1 JamIite® gy 9% H Wi & 9rdl g 2

1. R ® S
2. STEE B
3. §Hi= @

4. Gt gf

1 1




(2) 2

3) 3

(4) 4

1[Option ID=32437] Question Description : dwbv_pg_geo_eng_2_q34
2[Option ID=32438]

3[Option ID=32439]
4[Option ID=32440]

Sl. No.35
QBID:80035

Which type of maps are called cartograms?

1. Maps on which very minute details about very small areas like towns and villages are given.

2. The million sheets of the Survey of India.

3. Maps on which diagrams and graphs are superimposed to show the spatial distribution of data.
4. A rough drawing without scale.

1) 1
(2) 2
3) 3
4) 4

59 UPR & AFTTH & AFARE Hgl oldl 87

1. 9 AFIaA forgd 9gd i 65 o &l 3R 1idl & ggd g faarol Gy 9 g1

2. YRdig gdamr & ffemd = |

3. 98 OFEA 99 R R TR0 & Sids! &I Uaikid @3- & [y J@lE R AR (I1%) HERIud e 9 d 8
4. T§1 919® H=] 1@ |

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32441] Question Description : dwbv_pg_geo_eng_2_q35
2[Option ID=32442]

3[Option ID=32443]
4[Option ID=32444]

Sl. No.36
QBID:80036

Which of the following Indian language group matches correctly with its speech area?

1. North Dravidian - Odisha

2. Dardic - Nicobar Islands

3. Mon-Khmer - Assam

4. Munda - Jammu and Kashmir

1) 1
(2) 2
(3) 3
(4) 4

Fofaiad 39 @F 91 YR 49T 99E SR diel &7 @ witer gafid &

1. IR sfas-3Hifgen
2. GRIE® - FPER g
3. JH-GHT - 3/@F
4. 73T - FH] HR HR

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=32445] Question Description : dwbv_pg_geo_eng_2_q36
2[Option ID=32446]

3[Option ID=32447]
4[Option ID=32448]

Sl. No.37
QBID:80037

Which one of the following pair is wrongly matched?

Pass/Gap Connected Cities
1. Shencottah gap -  Tirunelveli
2. Palghat gap - Coimbatore
3.Burhanpur gap -  ltarsi
4.Thalghatgap - Ahmedabad
(1) 1
(2) 2
(3) 3
(4) 4
5 g H &1 9 Ak el & 7
&2/ oS R

1. BFPITE Y - fas-ada
2.UEERE Y - B
3. §EAR Y - erdl

4. YUY - IEHGEIG

1)
(2)
(3)
(4)

A W N =

1[Option ID=32449] Question Description : dwbv_pg_geo_eng_2_q37
2[Option ID=32450]
3[Option ID=32451]
4[Option ID=32452]

Sl. No.38
QBID:80038

Which one of the following sets of multipurpose project and associated river is wrongly matched?

1. Matatila -Banas river

2. Banasagar- Sone river

3. Ukai - Tapi river

4. Papanasam - Tamraparni river

(1)
(2)
(3)
(4)

Fofaiad 3 O @F U1 9g3cug uiaiorT 3R 399 gafd ol gafad el § 7
1. ATAIETA - S99 g1
2. SIUEAR - GH 6!

3. I@1S - ard gt
4. UTYT=I - qreaoff et

A W N R




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32453] Question Description : dwbv_pg_geo_eng_2_q38
2[Option ID=32454]

3[Option ID=32455]
4[Option ID=32456]

Sl. No.39
QBID:80039

Which of the following region lies in the lowest seismic sensitive zone in India?

1. Bundelkhand region
2. Gangia region
3. Konkan region
4. Godavari basin

(1)
(2)
(3)
(4)

FrofaRad § O @ W1 &8 YRd & YeU 1 Y&y Ydg-<ia aH | fRua g2
1. §CaETS 49
2. T &
3. DIHU &
4, TMEad afF

A W N =

(1)
(2)
(3)
(4)

A W N R

1[Option ID=32457] Question Description : dwbv_pg_geo_eng_2_q39
2[Option ID=32458]
3[Option ID=32459]
4[Option ID=32460]

Sl. No.40
QBID:80040

Which of the following set is wrongly matched?

1. Kal-Baisakhi - West Bengal

2. Cherry-Blossom - Andhra pradesh
3. Mango showers - Karnataka

4. Bardali Chheerha - Assam

1)
(2)
(3)
(4)

A W N R

Frafafad & € &1 91 99g gafed 16l &7
1. I - SRET - T s
2. TR - s -3ty ueRr
3. 39 991 - Tlc®
4. IRGAl BIST - 39




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32461] Question Description : dwbv_pg_geo_eng_2_q40
2[Option ID=32462]

3[Option ID=32463]
4[Option ID=32464]

Sl. No.41
QBID:80041

In which of the layers temperature decreases as altitude increases?
A. Thermosphere

B. Troposphere

C. Mesosphere

D. Stratosphere

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.B and D only
4.Cand D only

(1) 1
(2) 2
3) 3
(4) 4

1 Wal  $ars & 91y d9qH J S8 314l 87
A. AT
B. &lHHUST
C. HEHUST
D. HHAIHTSH
=< feu 7Tu fadedl § 9 U8l SR 9 -
1. ®hdd A 3R B
2. Had B 3R C

3. Haa B ARD
4.FHaACAND

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32465] Question Description : dwbv_pg_geo_eng_2_q41
2[Option ID=32466]

3[Option ID=32467]
4[Option ID=32468]

Sl. No.42
QBID:80042




Which of the following is/are aquatic ecosystems?

A. Grassland

B. Wetland

C. Delta

D. Forests

Choose the correct answer from the options given below:

1. A only

2. A and B only
3.B and C only
4.B and D only

(1)
(2)
(3)
(4)

A W N R

e & 9 & /A o uRkfufas @8R
A, IEHE
B. HTHYFH
C. S
D.dH
i< feu e faweal 5 § 981 IR 9 -
1. Had A
2. Bac A 3R B

3. WA B 3R C
4.%ad B 3R D

(1)
(2)
(3)
(4)

A W N R

1[Option ID=32469] Question Description : dwbv_pg_geo_eng_2_q42
2[Option ID=32470]
3[Option ID=32471]
4[Option ID=32472]

Sl. No.43
QBID:80043




Which of the following are examples of chemical weathering?
A. Movement of rock along fracture

B. Rusting of Iron

C. Breaking of Feldspar to clay

D. Acid action

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3. A Band Conly
4.B, Cand D only

(1)
(2)
(3)
(4)

A W N R

Fafafad § @F 4 WWEfe emed & e o2
A. STE%E & Iy g &1 3Tid
B. TeT & o @I

C. beswR &1 giud! | fads

D. iy fehar

i< feu T fasenl 5 9 98 Iw g -
1.®ad A 3R B
2.Hae B 3R C

3. ®WAAA, B AR C
4.%ad B, CARD

(1)
(2)
(3)
(4)

A W N R

1[Option ID=32473] Question Description : dwbv_pg_geo_eng_2_q43
2[Option ID=32474]
3[Option ID=32475]
4[Option ID=32476]

Sl. No.44
QBID:80044




Which of the following statements are true about aerosols in the atmosphere?

A. Aerosols include sea salts, fine soil, smoke, pollens, soot.

B. Aerosols in the air contribute to the various hues of red and orange at sunrise and sunset.
C. The concentration of aerosols is maximum in mesosphere.

D. Aerosols act as surfaces on which water vapour condenses.

Choose the correct answer from the options given below:

1. A and Conly
2.B and C only
3.A Band D only
4.Cand D only

(1)
(2)
(3)
(4)

A W N R

qgHSd H WK & d8y H 5 7 U H-4 &Y 98 o7
A WIS © G daul, e TaT, Y34, T S1 3R S (soot) BT &
8. g ¥ WIYId gaicd d A & 999 a1d AR ol ¥ & fafae WeR & 8 gReH #d 8l
C. WETd Johgtl 9HdY Hed (@eeaR) | sifidad gl o
D. QIS Ul §dg & ®U H ®1Y $d & o4 U o a1 5idd 81 9l 8
i< feu e faweal 5 § 981 IR 9 -
1. Pad A 3R C
2.%aaB R C

3. ®WAd A, B3R D
4.%Had CAND

(1)
(2)
(3)
(4)

A W N R

1[Option ID=32477] Question Description : dwbv_pg_geo_eng_2_q44
2[Option ID=32478]
3[Option ID=32479]
4[Option ID=32480]

Sl. No.45
QBID:80045




Which of the following statements are NOT true about Spatial Analysis?

A. The application of quantitative techniques in locational analysis is known as 'spatial analysis'.

B. It is not associated with the philosophy of positivism.

C. The generalisation arrived at with the application of spatial analysis is based on: direction, distance and connection.
D. It got popularity due to deterministic approach in geography.

Choose the correct answer from the options given below:

1. A and Conly
2. A and D only
3.B and D only
4.Cand D only

(1)
(2)
(3)
(4)

A W N R

e fazauu & aR | FHafaRed § 8 o9 € &Y= 981 8§ ?
A. Hafufd fazcunn & AErES ulaferl & uai ol wiHe =iy Sl S 8|
B. T8 Wd&ATG & aXi § Hafid 781 5
C. RIS [a=eluvl & S{HERT ¥ Ut ARG G, g 3R HaieH UR S1uIRd gidl ¢
D. g i H Fygdic 3URH o RYI dldiud gafll
i< feu e faweal 5 § 981 IR 9 -
1. Pad A 3R C
2.5ad A 3R D

3. WA B 3R D
4.%Had CAND

(1)
(2)
(3)
(4)

A W N R

1[Option ID=32481] Question Description : dwbv_pg_geo_eng_2_q45
2[Option ID=32482]
3[Option ID=32483]
4[Option ID=32484]
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Which of the following statements are correct?

A. Agenda 21 was adopted in the 1992 Earth Summit held in Rio de Janeiro, Brazil.

B. Montreal protocol was also adopted in the 1992 Earth Summit at Rio de Janeiro, Brazil.

C. The main aim of Mentreal protocol was to reduce carbon-di-oxide emissions by member nations.

D. The Commission on Sustainable Development(CSD) was created in 1992 for effective follow-up of conference held in Rio
de Janeiro, Brazil.

Choose the correct answer from the options given below:

1. A and B only
2. A and Conly
3.Aand D only
4.Cand D only

(1)
(2)
(3)
(4)

A W N R

Fafiiad 4 € -8 oy 98l 5 2

A. Foitd o e St skl # 1992 7 sratford gt fRrar 9HeH o Toisl 21 &I SifieR fdear mar a1

B. STeid o g1 ST SRl 7 1992 T Siford gedt AR TeieH | Hifgad Uieidbia ®i Hi sFieR foar mar o1l
C. Hifad Uieidid & §& 330 96w ¥l gRI fbU |- dTcl e - SI3-3HIFHI5s & Icoi- dI geH1 4Tl

D. STeid & gl ST ol & Sriford SeieH @1 WHIdT Sfadl @Rals & (o SR 3B OR SRR (S.ed.Sh) $f 1992 §
TIféd fovar T ol

I feu e fasdheal H U U8l IR 94 -
1. BaAd A AR B
2. HaAAA R C

3. HIAA AR D
4.FHaACIARD

1)
(2)
(3)
(4)

A W N R

1[Option ID=32485] Question Description : dwbv_pg_geo_eng_2_q46
2[Option ID=32486]
3[Option ID=32487]
4[Option ID=32488]
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Which of the following factors may be attributed to the Urban decline?
A. Changes in forms of transport

B. Exhaustion of mineral deposits

C. Climate change

D. City governance

E. Competition from nearby towns

Choose the correct answer from the options given below:

1. A B and C only
2. A, B and E only
3.A B, D and E only
4. A, Cand D only

1)
(2)
(3)
(4)

A W N R

FEfRad H € @ 4 $R& FRIY 814 oq STRar| 8 Jahd g 7
A. UREe & ey H URad
8. Wil &l &1 garft
C. Faar] uiRad—
D. &4l TET
E. HTE-UY & Sl 9 Ui
i<l feu 1u fadedl & 4 981 SR g -
1.Ha A, B AR C
2. 590 A B AR E

3. I A, B, D AR E
4. HddA, C3HR D

1)
(2)
(3)
(4)

A W N =

1[Option ID=32489] Question Description : dwbv_pg_geo_eng_2_q47
2[Option ID=32490]
3[Option ID=32491]
4[Option ID=32492]
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Which of the following options correctly represent new additions to improve the data quality by Census of India, 20117
A. Option of 'others'- other than male/female

B. Tenure status of land under cultivation

C. Four new codes on disability

D. Information about rentiers

Choose the correct answer from the options given below:

1. A, Dand E only
2. A, B and D only
3. A B and E only
4. A, Cand D only

(1)
(2)
(3)
(4)

A W N R

HRd B SIUFT 2011 H SHid Sl AUiadl H GUR gq AdH gRadH @i FafcaRad [decl # o 981 U H oad didl o7
A, 3 BT faded - T/ Aiga & Hfafad
B. TAHIET IR fagiford & e gud @e
C. Py 1= 4 & FRIeN 31 R
D. feaTa g IR 9U @
£ TPeERl & aR H a1
<< feu 7Te fadeal 5 9 98l SR 9 -
1.®dd A D3R E
2.Had A, B 3R D

3. HadA B AR E
4.HAAA, C3HRD

1)
(2)
(3)
(4)

A W N R

1[Option ID=32493] Question Description : dwbv_pg_geo_eng_2_q48
2[Option ID=32494]
3[Option ID=32495]
4[Option ID=32496]
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Which of the following statements are NOT correct?

A. Mahogany, Ebony and Rosewood are main trees of the Tropical Wet Evergreen Forest.

B. Sal and Teak are major species of the Tropical Monsoon Forest.

C. Chestnut tree is known as "axe-breaker’ in Chaco region of Paraguay and southern Brazil.
D. Chinchona tree bark is used to manufacture chewing gum.

E. Tannin is found in the bark of hemlock, mangrove species and teak trees.

Choose the correct answer from the options given below:

1.B, Cand D only
2. A, Cand E only
3. A and B only

4.C, Dand E only

(1) 1
) 2
3) 3
(4) 4

Frafciad o € @14 9 oy 981 781 8 2
A. BT 31 TaTERd 39 & gB7 g& AR, T 3R USES §
B. SIS a e A a4 ®I UHE Usiliadl I1e 3R R g
c. TRd 3R Gl aiia & are! uew & 9ee 98 & 'Ta s & w0 & o Sdl 8|
D. RF®HT 38 &1 319 @ 9T T & Fafo J vged a1 9 gl
E. gHID, H9Id orfadl 3R GEiH géif &1 B1d 3 - 91 ol g |
i<l feu 1u fadedl & 4 981 SR g -
1.®ac B, C R D
2. %0 A, CHRE

3. Had A 3R B
4.HaAC, DARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32497] Question Description : dwbv_pg_geo_eng_2_q49
2[Option ID=32498]

3[Option ID=32499]
4[Option ID=32500]
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Which of the following defensive site cities may also be classified as "hilltop site cities'?
A. Ibadan

B. Montreal

C. Edinburgh

D. New York

E. Hamburg

Choose the correct answer from the options given below:

1.B, D and E only
2. A, Band D only
3.Aand Conly

4. A CandEonly

1)
(2)
(3)
(4)

A W N R

Frofafad 3 9 i Wenae wa & e & e wd w3t s o g di affgd e s asar s -
A 3889
B. HifcTw
C. TfEart
D. <A
E. gr
i<l feu 1u fadedl & 4 981 SR g -
1.®ac B, D 3R E
2.59d A, BARD

3. HIAA AR C
4. HAAA, CHRE

1)
(2)
(3)
(4)

A W N =

1[Option ID=32501] Question Description : dwbv_pg_geo_eng_2_q50
2[Option ID=32502]
3[Option ID=32503]
4[Option ID=32504]
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According to Ullmann the necessary elements of spatial interaction include:
A. Complementarity

B. Sustainability

C. Convenience

D. Intervening opportunities

E. Transferability

Choose the correct answer from the options given below:

1. A CandE only
2.C, Dand E only
3.A Dand E only
4. A Band Conly

(1) 1
) 2
3) 3
(4) 4

I & TR RIHS Hdhdl & HGWS ged! H Gl & -
A, TP
B. WYRUTTd! (Fadd)

C. gigur

D. HeOadl SHEER

E. RUMHIdRuiEa

i<l feu 1u fadedl & 4 981 SR g -
1.Had A, C ¥R E
2.0 C, D ARE

3. HddA DIRE
4. BAAA B AR C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32505] Question Description : dwbv_pg_geo_eng_2_q51
2[Option ID=32506]

3[Option ID=32507]
4[Option ID=32508]
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Which of the following pairs are matched correctly?

Cultural region State
A. Hadoti Rajasthan
B. Khandesh Maharastra
C. Baghelkhand Bihar
D. Ruhelkhand Madhya Pradesh
E. Malwa Punjab

Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, Dand E only
4. A, B and E only

1) 1
() 2
(3) 3
(4) 4
Ay oA-d e gafda g 7
Tpia® Uexl AT
A. Bard RELIIES
B. WHCH HERIY
C. 9UEs IEFIES
D. TETES Ry
E. Jrcdl PG
o fGu U fodheal 3 9 98 S g -
1.®HAA A, B 3R C
2. ®dd B, C 3R D
3. ®aAC D ARE
4. BAUA BIAHRE
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=32509] Question Description : dwbv_pg_geo_eng_2_q52
2[Option ID=32510]
3[Option ID=32511]
4[Option ID=32512]
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Which of the following represents main attributes of Jati?

A. Jatis are hierarchically graded.

B. They invariably have a Jati-linked occupation.

C. Members of a Jati generally share heterogenous culture.

D. Consideration of achievements and mobility determine interaction between different units.
E. Jatis are endogamous unit

Choose the correct answer from the options given below:

1.A B, Cand E only
2. A, B and E only

3.A C DandEonly
4. A B, DandE only

1)
(2)
(3)
(4)

A W N R

Ffeiad = 9 oH-1 91d &1 U@ Rudre & Ugd $3d & 2
A. Sfat ved® w9 H duiieg gkt 2
B. 34 fifd ¥ Heg 49 URad-1d ¥4 H gidl 8|
C. Wilfd & Geed IMFad [auART @bl bl el ®d g
D. SUTEA! 3R Hei-dl B Wawa [afd sosdl & H9 3= a1 @ Huffd axa g1
E. STt T $378 ¢
i<l feu 1u fadedl & 4 981 SR g -
1. BaUA, B, C IR E
2.Bad A B HRE

3. BIAA, C, DIANE
4. ®BdAA, B, DIARE

1)
(2)
(3)
(4)

A W N =

1[Option ID=32513] Question Description : dwbv_pg_geo_eng_2_q53
2[Option ID=32514]
3[Option ID=32515]
4[Option ID=32516]
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Which of the following criteria is used to study a state by political geographers?

A. Power over the people of an area unrestrained by laws originating from outside the area.

B. Recognition by a significant portion of the international community.

C. Definite portion of earth’s land surface with recognized limits.

D. Administrative system to perform functions needed or desired by the people.

E. Organized means of transmitting goods, people, and ideas from one part of territory to another.
Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4. A, BandEonly

(1) 1
) 2
3) 3
(4) 4

eI Yiadd U Aot & e | Fafifed J 9 food aues! & nged #d § ¢
A. TP &7 & Al TR T o 39 &7 & aTex ¥ Igyd Bl @) sr1 smfaafia gl

B. SRIPIY WHE & Us He@yul {1 gRT A
C. 9= GH13 & 91y gl & Ydd Sl IS HET
D. HIa%T® Tl Afdad! o oY 31+1P Bl B B & [T TLrEi—es Yumed|
E. Ut USRI U g VST dd axgel, afdad! oIk fGari &f aila & & 9fad areq |
i<l feu 1u fadedl & 4 981 SR g -
1.®ad A, B AR C
2.%9d B, C AR D

3.HaAC, DIARE
4. HaAA BARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32517] Question Description : dwbv_pg_geo_eng_2_q54
2[Option ID=32518]

3[Option ID=32519]
4[Option ID=32520]
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Which of the following statements are correct about impact of Darwin on Geographical thought?
A. James Hutton demonstrated the theory of uniformitarianism in landform evolution.
B. Fleure used struggle and selection concept in his studies on races, states and towns.

C. Darwin's work on the origin of atolls and the idea regarding slow transformation of biological species over time, together
inspired Davis to develop his own theory of the cycle of erosion.

D. Stoddart stressed the need for physiological study to assess environmental effects on man.
Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3. Aand Conly
4.Cand D only

1) 1
(2) 2
(3) 3
(4) 4

Yo feiad W S1fde & yvid & 9 | [gfoiad § § @F 9 $y- 9l 57
A. SF B2 A YT fame § theudars &1 HSia Uqd @il
B. TRigY = T, Tl 31X Qe U Yafid 30 &g § Yod SR gHd RO ST JuTeT i
C. Held @I 3dfd & 9K H S1fd4 & 1 IR THY & rY-T1Y Hidd Jeliadl & 9-41 Fuiaul & [daR 3 Sfaw @I soEn
HREA 9 @I (GGid faefid o3 o fau Uia fean
D. ®ISTE 4 A% WX TG0 & T BT BT B & 108 IRRIBATHSD 300 B aadmal R SR &
e fen e fowel 4 O W8l SR A -
1.®ad A 3N B
2. %A B 3R C

3. HIAA IR C
4.FHaACIARD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32521] Question Description : dwbv_pg_geo_eng_2_q55
2[Option ID=32522]

3[Option ID=32523]
4[Option ID=32524]
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Which of the follwing statements are correct?

A. Davisian model of cycle of erosion envisages space-dependent series of landform development.
B. Penck’s model of geographical cycle envisages time independent series of landform development.
C. Davisian geographical cycle over emphasized stage and gave less attention to structure.

D. Penck emphasized that geomorphic forms are expressions of phase and rate of upliftment in relation to rate of
degradation.

Choose the correct answer from the options given below:

1.B, Cand D only
2. A, Band Conly
3.B and C only
4.Cand D only

(1)
(2)
(3)
(4)

A W N R

e e Y Py gl 8 2
A. SIRGA 56 D1 SARTEH Alas H-ATPhd Hee B ®1HS - Fiar faa R ffar sxarg|
B. U &1 YITIfcT® I AlSd Y-HDid b &I DI - WA 8 R TR S 2|
C. Sfaftg= Hivifed 9 - =0 WR e ad far ik a1 W &4 9 &gl
D. U 7 9 fam &5 Y-eafadl & U IUF &I a1 U4 & quT e &1 & 4 4t 2
e T e H A WS I -

1.®dd B, C 3R D

2. Had A, B3R C

3. HaaB AR C
4. %A C AR D

1)
(2)
(3)
(4)

A W N R

1[Option ID=32525] Question Description : dwbv_pg_geo_eng_2_q56
2[Option ID=32526]
3[Option ID=32527]
4[Option ID=32528]
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Consider the following statements related to resources and infrastructural development in India.

A. Chromite deposits are found in the form of segregation masses and veins in ultra-basic rocks such as dunite, peridotite
and serpentine.

B. The objectives of Biosphere Reserves in India is to promaote research on ecological conservation and industrial
development.

C. Jamnagar oil refinery has the largest installed capacity and uses imported crude petroleum.
D. The ilmenite beach sands of Kerala contains the largest reserves of Monazite in India.
Choose the correct answer from the options given below:

1.B, C and D only
2. A Band Conly
3.A Band D only
4. A, Cand D only

(1) 1
(2) 2
(3) 3
4) 4
YR H T YT SAURYd &id & [aoN § weiid HEitied oy-l ) EH ¢ |
A. ATEe e faHuiiod 5o0aH & €0 H 3R SOcdia® Udl (3eel ai®) ol S5, URSRTSe 3R Tters @1 RRIH!
¥ 9 STl
B. HRd H SigHsd RI&d & ST 32 Taiauy W& 3R i fGam & s ¢ o
C. SR dd Qe aiiid &Hdagad doRiY® & off AEliad & Jid &1 Wari &3l &
D. B3 BT YR sai-Ee <d YR H AHulee &I Jad ged JRad HSR 21
o feu U fadeal H U Ugl IR 94 -
1.®ad B, C AR D
2.Pad A BIHRC

3. HaAA, B IR D
4. HAdA A, C3RD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32529] Question Description : dwbv_pg_geo_eng_2_q57
2[Option ID=32530]

3[Option ID=32531]
4[Option ID=32532]
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Which of the following correctly represent the main foci of geographical interest in electoral studies?
A. Geography of Symbols

B. Geography of Voting

C. Geography of Voting Margins

D. Geographic influences on Voting

E. Geography of Representation

Choose the correct answer from the options given below:

1. A B and E only
2. A, B, Dand E only
3.B,C, D and E only
4.B, D and Eonly

(1) 1
) 2
3) 3
(4) 4

gATdl el H HRTfes sl & 7 g el & Fafaiad ¥ o1 98 &1 9 wlaRfba &id 87
A. U@ @1 Y (et R e

B. G ®I I (RIS #1w Fife)
C. HaaH HRTd @1 HFd (RERTwT S| Afe-g it dife)
D. HaaH R HFe® UHE
E. Tiia &1 i
i<l feu 1u fadedl & 4 981 SR g -
1. Had A B AR E
2.%ad A, B, D HRE

3. HadB, C, D ARE
4. HadAB, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32533] Question Description : dwbv_pg_geo_eng_2_q58
2[Option ID=32534]

3[Option ID=32535]
4[Option ID=32536]
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Which of the following statements are not correct?

A. Stubble burning contributes to air pollution.

B. Discharge of warm water from thermal power plants into rivers does not contribute to thermal pollution.
C. Noise pollution can cause emoticnal or psychological effects such as irritability, anxiety and stress.

D. In mountainous areas, terrace farming is the only option to control soil erosion.

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Cand D only
4.B and D only

(1)
(2)
(3)
(4)

A W N R

Fafaied 5 4 @ ° ¥ 981 7
A. TRTE! @1 FAMT (F&d af-1) a7 UgHul § TigH &l 8
B. 4 faggd aR1 el H W[ od BIe-T a9 Uguul & IreH el ®dl g
C. i UguUl HIdiisid 1 HAIdgI-d YHIE, oY - FISfrsiys, giEdr 3R a91d () 39 &) Gahdl g
D. UgTS! &3 H WigH1 $ib Y-&RUI & (430 B UeHH fddhed g
i< feu e faweal 5 § 981 IR 9 -
1. Pad A 3R B
2.%aaB R C

3. WA C AR D
4.%ad B 3R D

(1)
(2)
(3)
(4)

A W N R

1[Option ID=32537] Question Description : dwbv_pg_geo_eng_2_q59
2[Option ID=32538]
3[Option ID=32539]
4[Option ID=32540]
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Which of the following statements are NOT correct regarding the concept of growth pole?
A. Perroux's original work focuses on the development of growth poles in economic space.
B. Boudeville comprehensively excluded the geographical dimension from growth pole.

C. The processs of polarisation depends upon agglomeration economies.

D. The trickle-down effect are of minimum interest to regional planners.

E. Spatial interactions include movement of goods only.

Choose the correct answer from the options given below:

1. A and C only

2. A, Cand D only
3.B,C, D and E only
4.B, D and Eonly

1)
(2)
(3)
(4)

A W N R

Fafifed 3 8 11 9 Sy 31y Ud @S 49) 3T HaUR & IR & el T8 & 7

A. URIFH BT Hiferp B il feay™ (W) H# 714 Ui @fS ydh) & faer R aH disd S ¢
B. AI3siad = 41y Uid (@G 4a) U HFTicid 3 &I sAUs ¥U d 9igtdhd (Bl

C. YA B Uishal GHE HTaRIIS (WaAlHEH sHNT) R R 81

D. e (fEwd S ywia d ueliie gesR! #t =g=as 3 il 5

£. ®ifA® sfafmmstt # Saa e &1 g afffad g

i< feu U fadeal # 4 981 3w g -

1. BaAA AR C
2.PaAA CHRD
3.®%ad B, C, D ANE
4. %adB, D ARE

1)
(2)
(3)
(4)

A W N =

1[Option ID=32541] Question Description : dwbv_pg_geo_eng_2_q60
2[Option ID=32542]
3[Option ID=32543]
4[Option ID=32544]
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Which of the following countries founded the organisation of the Petroleum Exporting Countries (OPEC) in 19607
A lran

B. Iraq

C. Indenesia

D. Libya

E. Saudi Arabia

Choose the correct answer from the options given below:

1. A B, D and E only
2.A,C, DandE only
3. A Band E only

4. A, B, Cand E only

1)
(2)
(3)
(4)

Fafeiad & 9 [ <=1 = 1960 H SHTHIZORA H1h & U2iicms URUIie Sl (3Ud) &1 =91 & 47
A STHE

B. XD

C. ZeHRE

D. wiiferr

E. §FHal 3Rd

e fey e famel 5 9 9 IR A -

1. WA A, B, D3R E
2.%ddA C DARE
3.BA0A B ARE

4. Had A, B, CHRE

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=32545] Question Description : dwbv_pg_geo_eng_2_q61
2[Option ID=32546]
3[Option ID=32547]
4[Option ID=32548]
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Which of the following statements are NOT correct?
A. Spatial interaction is reflected in the flow of people, goods and information.

B. Gravity model is used for spatial interaction analysis.

C. Hurst applied concepts of conduction, convection and radiation of physics in his model of spatial interaction.
D. The direction of spatial interaction is determined exclusively by intervening opportunities.
Choose the correct answer from the options given below:

1. A and B only
2.A, Band Conly
3.B,Cand D only
4.Cand D only

1)
(2)
(3)
(4)

A W N R

frfeiRad # 9 &1 9 $y- 981 78l 87

A RTE Sfafdha safgadl, agait 3R gE1 & vare o ufafefad gidt 31
B. Tod e (Flsq) B ®i1f@ fafiar fa=evu & uged [oar I g1
C. B 9 30 WIS 3fdfhar Alsd ¥ Wiae e &1 areH, Ydeg- 3R [afe3on &1 SqURons & ugdd faar 41|
D. R Sfafhar @i =N 379 ¥ I gegad! sawl 4 Fuffa gk 21
i e e fasmedl 5 9 9l I 9 -
1. ®ad A 3R B
2.Had A, B #R C

3. ®ad B, C AR D
4. BadC 3R D

1)
(2)
(3)
(4)

A W N R

1[Option ID=32549] Question Description : dwbv_pg_geo_eng_2_q62
2[Option ID=32550]
3[Option ID=32551]
4[Option ID=32552]
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Which of the following statements are correct with reference to Weber's Industrial location theory?
A. It is based on the assumption of variable physical and cultural landscape.

B. Entrepreneurs have perfect knowledge of location of raw material and the market.

C. Agglomeration has no role in determining industrial location.

D. There are multiple modes of transportation.

E. It is based on principle of least- cost location

Choose the correct answer from the options given below:

1.B and E only

2. A, B and E only
3.C, Dand E only
4.B, Cand D only

(1) 1
) 2
3) 3
(4) 4

deR @ e sEfyfa fald & desl | Fefafed 3 3 o1 9 oy 981 8
A. 8 URacRITE Hifd® SR Reia® Yed ®] JaUR I HURd 81
B. STl & d=d A1 SR S9R & Sl & a1 & 9yuf g elaT o
c. Jefie safufa Fufor & e o a1 yfter Tl )
D. UG8 & -9 aXid &
E. I8 A-aFTa Sfafufd & Fam W anerfid 21
e feu e fadedt & @ w8 IR A -
1. 3408 3R E
2. 590 A, BARE

3.H9dC, D 3IRE
4. HadAB, C AR D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32553] Question Description : dwbv_pg_geo_eng_2_q63
2[Option ID=32554]

3[Option ID=32555]
4[Option ID=32556]

Sl. No.64
QBID:80064




Consider the following statements related to transport, agricultural and mineral resources in India.
A. Konkan railway connects Roha to Kanyakumari and track measures 760 km.

B. Pradhan Mantri Gram Sadak Yojana provides single all weather road connectivity to the habitation of 1000 persons or
more.

C. Maharashtra has a longer crushing period of sugarcane than Uttar Pradesh.
D. Andhra Pradesh with the share of more than 98% of total production of mica is the leading mica producing state in India.
Choose the correct answer from the options given below:

1. B and C only
2. A and B only
3.B and D only
4.Cand D only

(1) 1
(2) 2
(3) 3
(4) 4

YRd H uRag, SN qu1 @i g9ieH! @ e H Fefafegd @ meEH Tl
A. DIEU Q6T § HAGHAR DI S5l & AR 9@ Ued BI aarg 760 B Bl

B. THEEN U8 TS Ao dhad 1000 SAfaadl I1 3f¥d HTETE! drell 9kl (Far ®H) g T4 s ¥ 956 Ims UeH
Hdl ol

C. TR UG &I o § HeRIY H <udiicie U 9 T &l IS &l S far 9l &
D. YIRd J YT y® B I 31y e T 501 9l § off $a Sd1a @1 98% R §l
e fen e fowel 4 O W8l SR A -

1.%adB HRC

2.0 A R B

3. Haa B AR D
4.FHaACIARD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32557] Question Description : dwbv_pg_geo_eng_2_q64
2[Option ID=32558]

3[Option ID=32559]
4[Option ID=32560]

Sl. No.65
QBID:80065




Consider the following statements regarding transportation and irrigation in India.

A. Sirhind canal originates from Satluj river to supply water for irrigation in Rajasthan.

B. Kerala state is bestowed with highest length of roads Km per 100 sq.km area among all states of India.
C. Buckingham canal is the part of National Waterway No.5 of India.

D. Tubewells, as mode of irrigation, provide water to the largest cultivated area of India.

Choose the correct answer from the options given below:

1.B and C only
2. A and D only
3. A and Conly
4.B and D only

1) 1
(2) 2
(3) 3
(4) 4

YRd ¥ uftag ok fi=r § gefid Ru mu suai m e g

A TREE TR Gaae 41 ¥ Fdad! 8 R IowH & SR 8 9d @t oafd Sl 8|

B. HRd & G Trsal H oxd H U5 TS [hamie? Uid 100 &7 fEraiiex &1 J aiiis® g
C. SideH 83, HRd & Sl HEA1 5 BT HA &

D. YId & HdliU® g8¢ HIT H $4 [9ls e Aa@y (Cdeda) ¥ 9d UaH [&dl oIl |
o fEU U fadheal 9 98 S g -

1.%9dB AR C

2. ®Had A R D

3. WA A AR C
4.%ad B 3R D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32561] Question Description : dwbv_pg_geo_eng_2_q65
2[Option ID=32562]

3[Option ID=32563]
4[Option ID=32564]

Sl. No.66
QBID:80066




Match List | with List 11

List | (Local wind)|List Il (Type)

A. Levanter l. Warm wind in Argentina

B. Norwester Il. Cold wind in France

C. Zonda 1. Cold wind in Southern Spain

D. Bise IV. Dry and gusty wind in New Zealand

Choose the correct answer from the options given below:

TA-IW,B-ILC-1,D-1I
2ZA-NLB-IV,C-1,D-1
3A-ILB-LC-1L,D-1V
4 A-1LB-IV,C-1,D-1I

1)
(2)
(3)
(4)

A W N R

Tt -1 B gt -1 o gafed S

I -1 (@HE ) [ -1 ((PR)

A, TdeY |. 3feteET H 3T arg

8. A1 1. g a9

c.Ste 111, Sl&of == # =fid arg

D. EIZH V. Geilcis H 5 d FDHeR ag
i< feu e fadedl § 9 ¥al 3ok g-U:

TA-IW,B-ILC-1,D-1l
ZA-NLEB-IV,C-1,D-1
3.A-ILB-LC-1L,D-1V
4AA-1L,B-IV,C-1,D-1I

1)
(2)
(3)
(4)

A W N R

1[Option ID=32565] Question Description : dwbv_pg_geo_eng_2_q66
2[Option ID=32566]
3[Option ID=32567]
4[Option ID=32568]

Sl. No.67
QBID:80067




Match List | with List 11

List | (Date) List 1l (Celebrated as)

A. February 2 |I. Earth Day

B. April 22 Il. World Ozone Day
C.June 5 l1Il. World Wetland Day

D. September 16|IV. World Environment Day

1)
(2)
(3)
(4)

A W N R

Choose the correct answer from the options given below:

TA-IW,B-LC-1I,D-1I
2ZA-NLB-IV,C-1,D-1
3A-ILB-1L,C-1V,D-1
4A-NLB-1,C-IV,D-1

Tt -1 B gt -1 o gafed S

1)
(2)
(3)
(4)

A W N R

Il -1 (@) [ -1 (6 Y H R e 8 )
A2 BRAS . gedt fead

B. 22 3T 1. fay ofei= Bag

C.5 9 . fa% oms yf gaw

D.16 fgdar  |iv. fay unfawu feaw

o feu e fadeal # 9§ Ugl 3T gHU :

TA-IW,B-LC-1,D-1I
ZA-NLEB-IV,C-1,D-1
3A-ILBE-1L,C-1V,D-1
4 A-NLB-1,C-IV,D-1

1[Option ID=32569] Question Description : dwbv_pg_geo_eng_2_q67
2[Option ID=32570]
3[Option ID=32571]
4[Option ID=32572]

Sl. No.68
QBID:80068




Match List | with List 11

List | (Consumers/Decomposers)|List Il (Example)
A. Primary consumers I. Fungi

B. Secondary consumers IIl. Deer

C. Tertiary consumers IIl. Fox

D. Decomposers IV. Tiger

Choose the correct answer from the options given below:

TA-ILE-IV,C-1,D-1l
2ZA-NLB-1,C-1V,D-1
3A-ILB-L,C-IV,D-1
4 A-1ILB-1L,C-1IV,D-1

(1)1
(2) 2
(3) 3
(4) 4

Tt -1 B gt -1 o gEfed S

Il -1 SUHIFIN/SHULeD ((SHHIeY) [t -1 (3ETe0T)
A UTfE® JuHiE . Pad

5. fa<iia® Iuvia I 77T

C. gdig® JuHia! IRSIEE]

D. 3T (FSHHi) V. €Y

o feu e fadeal # 9§ Ugl 3T gHU :

TA-ILE-IV,C-1,D-1l
2ZA-NLB-1,C-1V,D-1
3.A-ILB-L,C-IV,D-1
AA-1L,B-1,C-1V,D-1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32573] Question Description : dwbv_pg_geo_eng_2_q68
2[Option ID=32574]

3[Option ID=32575]
4[Option ID=32576]

Sl. No.69
QBID:80069




Match List | with List 11

List | (Work) List Il (Scholar)
A. Crop-combination analysis |I. Stouffer

B. Isolated state II. Whittlesey, D
C. Intervening opportunities |lll. Von Thunen
D. Sequent Occupance V. Weaver, J. C.

1)
(2)
(3)
(4)

A W N R

Choose the correct answer from the options given below:

TA-IW,B-III,C-1,D-1
2ZA-LB-IL,C-IV,D-1
A-INLB-1IL,C-1L,D-1V
4A-IV,B-ILC-1,D-1

Tt -1 B gt -1 o gEfed S

1)
(2)
(3)
(4)

A W N R

1[Option ID=32577]
2[Option ID=32578]
3[Option ID=32579]
4[Option ID=32580]

Il -1 (@1 ) gt -1 (fagr)
A, HYC-HaeH [dReyo | WY

8. TPI@] I Il fegeerd, €1
C. Aeadl AR RCIEREE !

D. HIHH® AT v, ey, o

o feu e fadeal # 9§ Ugl 3T gHU :

TA-IV,B-III,C-1,D-1
ZA-LB-NILC-IV,D-1
A-ILB-1IL,C-1L,D-1V
4 A-IV,B-1ILC-1,D-1

Question Description : dwbv_pg_geo_eng_2_q69

Sl. No.70
QBID:80070




Match List | with List 11

List | (Concept)

List Il (Scholar)

A. Primarrumpf I. L.C. King
B. Pediplain Il. W. M. Davis
C. Panplane . W. Penck

D. Peneplain

IV. C. H. Crickmay

Choose the correct answer from the options given below:

TA-ILB-LC-1,D-1V
2ZA-LB-IV.C-IIILD-1
A-ILB-1L,C-I,D-1V
4A-NLB-1,C-IV,D-1

1)
(2)
(3)
(4)

A W N R

Tt -1 B gt -1 o gafed S

et -1 (per) ESIRNGER)

A TISHARA 1. el

B. UfSwH II. &g TA.Sa9
C. THwiA IIl. S U

D. U-IeA Iv. 91, ug. T
o feu e fadeal # 9§ Ugl 3T gHU :

1)
(2)
(3)
(4)

TA-ILB-LC-1,D-1V
ZA-LB-IV.C-IILD-1
A-ILBE-1LC-I,D-1V
4 A-NLB-1,C-IV,D-1

A W N =

1[Option ID=32581]
2[Option ID=32582]
3[Option ID=32583]
4[Option ID=32584]

Question Description : dwbv_pg_geo_eng_2_q70

Sl. No.71
QBID:80071




Match List | with List 11

List | (Theory about Origin of Tides)|List Il (Scholar)

A. Dynamic theory I. R. A. Harris

B. Stationary wave theory Il. Newton

C. Progressive wave theory 1. Laplace

D. Equilibrium theory IV. Willam Whewell

Choose the correct answer from the options given below:

TA-ILE-IILC-IV,D-1
2ZA-NILB-1L,C-IV,D-1
3A-ILB-LC-1L,D-1V
4A-LB-IILC-IV,D-1

1)
(2)
(3)
(4)

A W N R

Tt -1 B gt -1 o gafed S

ﬁ‘uﬂl-xqm-umﬁaaﬂ%ﬁaﬁﬁ i

A T fagid | AR BRF

B. R Ty fagid Il e

C. Wit a3 figia IIl. ST
e v, fafergd

D. TdeH Rigid Eisfafafsgn =) e

i< TR MU el H 9 9E IR g

T.A-ILBE-IL,C-1V,D-1
2ZA-NLB-1L,C-IV,D-1
A-ILB-LC-1I,D-1IV
4A-LB-NLC-IV,D-1l

1)
(2)
(3)
(4)

A W N R

1[Option ID=32585] Question Description : dwbv_pg_geo_eng_2_q71
2[Option ID=32586]
3[Option ID=32587]
4[Option ID=32588]

Sl. No.72
QBID:80072




Match List | with List 11

List | (Tributary)|List Il (River)
A. Kali Sindh |l Yamuna

B. Hasdeo Il. Tapi
C. Sindh . Chambal
D. Purna IV. Mahanadi

Choose the correct answer from the options given below:

TA-LE-IV,C-1I,D-
2ZA-NLB-1,C-1V,D-1
3A-ILB-IV,C-1,D-1
4AA-NLB-IV,C-1,D-1

1)
(2)
(3)
(4)

A W N R

Tt -1 B gt -1 o gafed S

G -1 (gD ) -1l (7 )
A, I 8y | AT
B.8UCd 11 Tt

C. Ty I, Tre

D. guif V. HEFGT
o feu e fadeal # 9§ Ugl 3T gHU :

TA-LE-IV.C-1L,D-
ZA-NLB-1,C-1V,D-1
3.A-ILBE-IV,C-1,D-1
4AA-NLB-IV,C-1,D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=32589] Question Description : dwbv_pg_geo_eng_2_q72
2[Option ID=32590]
3[Option ID=32591]
4[Option ID=32592]

Sl. No.73
QBID:80073




Match List | with List 11

List | (Major language)|List Il (Sub-language)
A. Dardic . Khasi

B. Mon-Khmer Il. Munda

C. North Dravidian 1. Shina

D. Austric IV. Gondi

Choose the correct answer from the options given below:

TA-ILE-1L,C-IV,D-1
2ZA-NLB-1,C-1,D-1V
3A-IV,B-IILC-I,D-1
4A-NLB-1,C-IV,D-1

(1)1
(2) 2
(3) 3
(4) 4

Tt -1 B gt -1 o gafed S

-1 (g ) et <11 (STHT)
A SIS® 1. @

8. AF-GR I 4T

c. gadi gifafsa IREEI

D. HIRE® Iv. St

o feu e fadeal # 9§ Ugl 3T gHU :

TA-ILE-1L,C-IV,D-1I
ZA-NLB-1L,C-1,D-1V
3A-IV,B-IILC-1,D-1
4 A-NLB-1,C-IV,D-1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32593] Question Description : dwbv_pg_geo_eng_2_q73
2[Option ID=32594]

3[Option ID=32595]
4[Option ID=32596]

Sl. No.74
QBID:80074




Match List | with List Il

List | (Wind) List Il (Description)

A. Bores l. North wind, strong and cool with clear skies
B. Eurus Il. East wind, warm and gentle

C. Notus I1l. South wind, wet and sometimes violent

D. Zephyrus V. West wind, dreaded, balmy with gale force

2A-1B
3A -1V,
4. A -1,

(1) 1

(2) 2

3) 3

(4) 4

Choose the correct answer from the options given below:

TA-ILE-1L,C-IV,D-1

1L C-1L,D -1V
B-U,C-1,D-1
B-IV,C-1,D-1

Tt -1 B gt -1 o gafed S

4 A-1I, B

1)
(2)
(3)
(4)

A W N R

- )
i T -1 (faaR)
N 1. ITRI UgH, a9 3N 331 & 91y 9%
A SR
5. gT9 II. g&1 uad, 7 IR 1
C.dArm | &l uaq, o SR H-edi 3u
N Iv. TigH ga, Yd& e @ 91y
= feu e fadent # 9 98 IR 9T
1.A-ILB-1,C-IV,D-1I

2ZA-LB-ILC-U,D-IV
A-VEB-U,C-II,D-1

-V, C-1L,D-I

1[Option ID=32597] Question Description : dwbv_pg_geo_eng_2_q74
2[Option ID=32598]
3[Option ID=32599]
4[Option ID=32600]

Sl. No.75
QBID:80075




Match List | with List Il

List Il

List | (Statement) (Expert)
xpe

A. Regional geographers may perhaps be
trying to put boundaries that do not exist I. Norton
around areas that do not matter.

B. Innovation of diffusion analysis represent
perhaps the most successful incorporation of

Il L
time into geography outside of historical <y
geography.
C. "To identi hical problems, ........ ,
o identify geographical problems L. Kimble
perhaps to solve them."
D. "Historical processes ......... may provide the W
basis for structuring of land fl
asis for structuring of landscape asaway of | .

life."

Choose the correct answer from the options given below:

TA-ILB-L,C-IV,D-1
2ZA-LB-ILC-IV,D-1I
A-ILE-IILC-1L,D-1V
4A-IV,B-1,C-1,D-1I

1) 1
(2) 2
3) 3
(4) 4

Tl -1 B G -1l © GAfd Bt :

T -
Tl - DY | A
A. TTGTIS Tiaddr Aag U & fomaT

e Tol g @ A @R SH ST |1 T
T & 3R 8, ford e e R

B. faouT fawemur &1 FaER UHE Uaeiis

ITid & a6 e H T0g &1 g I

THAdIgdd id [l 9 ®f Gl g

C. Yo SH=re &l UgdrT, ......... | o s
F®1 9HIYH $H @ el -

D. “UfcRia® Ul ....... ofied Tefd & ©4

T YeRY o] Wi B & (U AR UgH & |Iv. €IS
CELIEAR

d feu e fadeal # 4 Ugl 3R gHU :

T.A-NILB-1,LC-IN,D-1
2ZA-LB-ILC-IV,D-1I
.A-ILE-ILC-1L,D-1V
4A-IV,B-1,C-1,D-1

1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=32601] Question Description : dwbv_pg_geo_eng_2_q75
2[Option ID=32602]
3[Option ID=32603]
4[Option ID=32604]

Sl. No.76
QBID:80076

Arrange the following principles/concepts/theories of geomorphology in chronological order (old to recent) in terms of
inception.

A. Principle of Uniformitarianism

B. Dynamic Equilibrium Theory

C. Die Morphologische Analyse

D. Geographical cycle of erosion

Choose the correct answer from the options given below:

1.A B CD
2CADB
3.A,DCB
4.ACD B

1) 1
(2) 2
3) 3
(4) 4

afeiad st/ Ad s/ bsidl @1 1 seiafaaE H 3 & dIddH (QRIGA H Sfed-) H oudied difeg|

A IOEU &1 99

B. TTia® Fdad el
C. BT AHiad [T (318 ARGIAR TATaEs)
D. HIIfeih UG I
i< feu aTu fawedl 5 9 98l 3w g -
1.A B CD
2.CADB

3.A,DCB
4. A CDB

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32605] Question Description : dwbv_pg_geo_eng_2_q76
2[Option ID=32606]

3[Option ID=32607]
4[Option ID=32608]

Sl. No.77
QBID:80077




Identify the correct sequence of the food chain in a marsh community.
A. Butterfly

B. Hawks

C. Snake

D. Green plants

E. Frogs

Choose the correct answer from the options given below:

1.C,B,DEA
2.D, A BEC
3.0,AECE
4D, EACEB

(1) 1
) 2
3) 3
4) 4

GoGel e (H1E GRgf-Tl) 3 WE $90 & ol HH ©f UgdH Sifed|
A, foaeit

B. |l
c. g4

D. gRd Uley
£ Hem
i feu e fadheal # U Ugl IR 94 :

1.C,B,D,E A
2.D,ABEC
3.D,AECE
4.D,EACEB

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32609] Question Description : dwbv_pg_geo_eng_2_q77
2[Option ID=32610]

3[Option ID=32611]
4[Option ID=32612]

Sl. No.78
QBID:80078




Identify the correct sequence of the concentric zones of different land uses from the city center in Von Thunen’s model?
A. Crop farming without fallow

B. Firewood and timber

C. Market gardening and milk production

D. Three-field system

E. Livestock ranching

Choose the correct answer from the options given below:

1.B,C,D,AE
2.C,D B AE
3.C,BADE
4.C D EEBA

1)
(2)
(3)
(4)

A W N R

TF ¥ HISA H AR &g 9 YH IuTi & fAfhE Gaied @vs! o1 98l o HH ®H-al 8 ?
A, fo T =l yftt & Bl @

B. 3¢ Tdal 3R fda

C. 919K SFIaFT 3R g1 3dreA

D. dH-ics Jomelt

E. U[UTeH
o feu U fadeal H U Uel IR 94 -

1.B,C,D AE
2.CD B AE
3.C,B,ADE
4.C D EBA

1)
(2)
(3)
(4)

A W N =

1[Option ID=32613] Question Description : dwbv_pg_geo_eng_2_q78
2[Option ID=32614]
3[Option ID=32615]
4[Option ID=32616]

Sl. No.79
QBID:80079




Arrange the following countries in a descending order of their Human Development Index (HDI), 2021 ranking.
A. Australia

B. Norway

C. Switzerland

D. Iceland

Choose the correct answer from the options given below:

1.B,C,D A
2B CAD
3.3.CBAD
4.C B DA

1) 1
(2) 2
(3) 3
(4) 4

FufdiRad <=1 &l AHd [dP™ Yadi® (T9.S1.8015.) 2021 & Haie! HH H Haiyd Sife|
A. Sefern

B. 91

c. RaeeRds

D. TS

i< feu e fasedl 4 9 981 IR 94 -

1.B,C,D A
2B, CAD
3.CBAD
4.C B D A

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32617] Question Description : dwbv_pg_geo_eng_2_q79
2[Option ID=32618]

3[Option ID=32619]
4[Option ID=32620]

Sl. No.80
QBID:80080




Arrange the following regions (in descending order) in terms of proportion of non-religious population in the world.
A. Anglo-America

B. South-Pacific

C. East Asia

D. Eastern Europe

E. Latin America

Choose the correct answer from the options given below:

1.D,C, B E A
2.C,D B AE
3.0, CEBA
4.C, D AEB

(1) 1
) 2
3) 3
4) 4

3y § -l s & o & gy & Fefatad ueml & (id@iel %9 1) srafud S|
A. 3T -
B. GI&IUT - =TT
C.gd ulRmEn
D. gdf g3
E. e ARSI
He R el H A T S
1.D,C B, E A
2.C,D,BAE

3.0, C,EB A
4.C D AEB

1)
(2)
(3)
(4)

A W N =

1[Option ID=32621] Question Description : dwbv_pg_geo_eng_2_q80
2[Option ID=32622]
3[Option ID=32623]
4[Option ID=32624]

Sl. No.81
QBID:80081




Arrange the following publications in chronological order
A. The Nature of Geography

B. Critique of Pure Reason

C. Origin of Species

D. Exceptionalism in Geography

Choose the correct answer from the options given below:

1.B,CAD
2ACBD
3.C,D B A
4.0 A CB

1) 1
(2) 2
(3) 3
(4) 4

Fgfeiad UHT=H! @I DIHAIR 39 |

A. B a9 316 I

8. fpfed 3iis Wik d

C. SHIRSH 3t it

D. UGN 3 WG

i< feu e faweal 5 § 981 IR 9 -
1.B,C,A D
2.A,CB,D

3.C,D,B A
4.0 A CB

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32625] Question Description : dwbv_pg_geo_eng_2_q81
2[Option ID=32626]

3[Option ID=32627]
4[Option ID=32628]

Sl. No.82
QBID:80082




Which is the correct sequence of radiation from longest to shortest wavelengths?
A. X-rays

B. Visible

C. Infrared

D. Ultraviolet

Choose the correct answer from the options given below:

1.C,D B A
2.CB DA
3.0D,A,B,C
4.C,A DB

1) 1
(2) 2
(3) 3
(4) 4

dan @ agr av-od & R A s g wien e g 2
A. U faol
B. TXOHA

C. UTedlet

D. TRIETH!

o fEU U fadheal 9 98 S g -
1.C,D, B, A
2.C,B, DA

3.D,ABC
4.C,A DB

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32629] Question Description : dwbv_pg_geo_eng_2_q82
2[Option ID=32630]

3[Option ID=32631]
4[Option ID=32632]

Sl. No.83
QBID:80083




Identify the sequence of clouds in sky (first to last) as a warm front approaches an observer/ place in the middle latitudes.
A. Cirrostratus

B. Nimbostratus

C. Altostratus

D. Cirrus
Choose the correct answer from the options given below:

1.0, A CB
2.CD B A
3.D,C A B
4.D0,B CA

1 1
2) 2
(3) 3
(4) 4

T Hef2] H Uaids; R $I 3R U W dId™ & HRH & RUfd § srarer & 59l & 9el 3HH (WU ¥ 3ifdH) & ugaH
DI

A, T&TY T

B.au1 &I

C. U

D. U&TH

i< feu 7Tu fadedl § 9 98l SR 9 -
1.D,A CB
2.C,D,B A

3.0,CAEB
4.0,B CA

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32633] Question Description : dwbv_pg_geo_eng_2_q83
2[Option ID=32634]

3[Option ID=32635]
4[Option ID=32636]
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Identify the correct sequence of the major salts (in percentage) in the ocean waters in descending order.
A. Magnesium chloride

B. Calcium carbonate

C. Sodium chloride

D. Magnesium sulphate

Choose the correct answer from the options given below:

1.B,D,C A
2CADB
3.C,D B A
4.D,C A B

1) 1
(2) 2
(3) 3
(4) 4

HEMFR & o H W aull (Wiaerd H) & Tel $aRiel oH &I UgdH difo|
A. B wREs

B. BicXaH BTai-c

. gifsa RS

D. AfafrgH ¥ehe

i< feu e fasedl 4 9 981 IR 94 -

1.B,D,C A
2.CADB
3.C,D B A
4D C A B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32637] Question Description : dwbv_pg_geo_eng_2_q84
2[Option ID=32638]

3[Option ID=32639]
4[Option ID=32640]
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Arrange the longitudinal fault lines of Himalyas from south to north.
A. Himalayan Frontal Fault (HFF)

B. Main Boundary Thrust (MBT)

C. Indus-Tsang Po Suture Zone (ITSZ)

D. Main Central Thrust (MCT)

Choose the correct answer from the options given below:

1.ABCD
2.AB D, C
3.B,CAD
4.D,B A C

1) 1
(2) 2
(3) 3
(4) 4

feHTeE @ erfawd Y= warell &l Gfatl d SR de oualeyd Sifey|
A, TRHITEl SHRTY Y9 (O Uh.UE)
8. %A U &Y (TA.EE)
c. fy-aiat &0 (G) &7 (315 A g wis)
D. 4% Hald &U (U H1E)
I U T Aee H 9 9 I A -
1.ABCD
2.4, B,D,C

3.BCAD
4.0, B A C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32641] Question Description : dwbv_pg_geo_eng_2_q85
2[Option ID=32642]

3[Option ID=32643]
4[Option ID=32644]
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Given below are two statements:

Statement |: Maximum salinity is seen at Tropic of Cancer and the reason may be low rainfall, high evaporation and high
atmospheric pressure.

Statement II: Minimum salinity is seen in temperate zone because of excess of evaporation and larger supplies of fresh
water,

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1) 1
(2) 2
(3) 3
(4) 4

EIERALAEI AR I f
@Y - | : B 181 W HUSHTH AU 81 T § 3R ST HRYI -5 a6, I= ardiarvl Ud S aigHS g Gale ¢ |
B - 11 : ffafad ardier SR e oia @i 3ifiE JE F SMafd & SR Siedy § g0y Gaud oEl 7S 8|
e HYAl B HTcile H Fgieiad [ddhedl # 9 98l w94 -

1. @Y | 3R 11 GH 9T B

2. ®YA | IR 1 G SEA B

3. @ | g 8, T &Y 11 A B
4. Y| A E, g Y 1 T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32645] Question Description : dwbv_pg_geo_eng_2_q86
2[Option ID=32646]

3[Option ID=32647]
4[Option ID=32648]

Sl. No.87
QBID:80087

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : El Nino has a strong effect on marine life along the Peru coast.

Reason (R) : During El Nino, upwelling of nutrient rich cold water is weakened which affects phytoplankton.
In light of the above statements, choose the carrect answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

1) 1
) 2
3) 3




(4) 4

T By GUU G : Ua & SHHDHYA (A) 3R GHL Bl BRU (R) Bl 141 8
HIGYA (A) : T H BT U dc & GHMIGR GHE1 oo 1R £ THE &

R) : T& -H1 & GRE UI9% dal 3 < d 91d &1 HUR 361 HH 8l ol o, 9l UGU-Tad (Wl lwiae-) & Hifad
Hdl ol

Iuad YAl & Hcld | FHifed [dhedl H 4 Wl 9k 9 :

1. (A) 3R (R) THFI UE1 & 31X (R), (A) P! U] AR &
2. () 3R (R aﬁfﬂﬁ‘l%ﬂﬁ )ﬂﬁﬂﬁ‘lm@ﬂ%ﬁ%l
3. (A) W61 8 IR R}ﬂﬁﬂﬁ%l
4. (A) W8I T8I 8 13q (R) WE1 &
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=32649] Question Description : dwbv_pg_geo_eng_2_q87
2[Option ID=32650]
3[Option ID=32651]
4[Option ID=32652]

Sl. No.88
QBID:80088

Given below are two statements about Structuralism/ Structuralists:

Statement I: Structuralism is concerned with discovering the things that are real and important in social life by looking
beneath the taken-for-granted socio-economic categories.

Statement |I: Structuralist appreciated the human creativity and intentionality related to individual's lives.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
) 2
3) 3
4) 4

TEAEG/AEAEed $ IR g S g sy feuu g

T - | : EHEIE 37 diel B Giel B 4 TR § S Too Wipd A -3fde Aot @1 =F 3 amifee sfiaT o
gRdiad R Heayul gidl

DY - 11 : WAl - H B 39 Fo-Tdbal AR F=Edl @1 WIg-l H il ofad & wia- 4 F&iid g
I Byl & Hels F FafaRad el § 9 98 Fa g -

1. Y | 3R 11 &H 9T B

2. BYF | 3R 1l T SHFT

3. @Y 1 9d B, fog &y 1| S g
4. % | 3EA E, Eg B 1 TA B

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=32653] Question Description : dwbv_pg_geo_eng_2_q88
2[Option ID=32654]

3[Option ID=32655]
4[Option ID=32656]

Sl. No.89
QBID:80089

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A): Landscapes dominated by a collection of folk customs change relatively little over time, whereas modern
communications facilitate frequent changes in popular customs.

Reason (R): Folk culture is more likely to vary from time to time at a given place where as popular culture is more likely to
vary from place to place at a given time.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct and (R) is NOT the correct explanation of (4).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

1) 1
(2) 2
3) 3
(4) 4

A G HYH CUIU G : US &l HUSHYH (A) AR gEL DI BRI (R) Hal T &l

HIV@YA (A) - A A Rarsl & Y98 @ UHd & Y-URe=d H 999 & 9Ty S(Uadhd &H URad- oidl ¢ geid A Uyl
TERT ¥ aefig I el & 9RER uRadT 8 d 21

R) : Tl = R @ 9%pid § 900-T00 IR iEd] ®f 9R{1aHT A9 8id] & waid b5 Sxid @1 (ol BId Gy
% UH ®H Y g f¥F uiadd @ gnE el 8|

Iuddd YAl & Hldld | FHifdd [dbedl # 4 el 9 9 -

1. (A) 3R (R) GFf 921 § 3R (R), (A) B! Tel AR B |
2.4 R (R T A R )ﬁ'ﬂﬂﬁwqﬁ%l
3. (A) WBI 8 IR R}ﬂﬁﬁ%l
4. (A) WEI 81 8 13g (R) WE1 &
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=32657] Question Description : dwbv_pg_geo_eng_2_q89
2[Option ID=32658]
3[Option ID=32659]
4[Option ID=32660]

Sl. No.90
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A): Insular countries are geopolitically powerful states.

Reason (R): Geographical location, advantage of navigational facilities and access to resources are the unique advantages of
insular countries.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct and (R) is NOT the correct explanation of (4).
3. (A) is correct but (R) is not correct.

4, (A) is not correct but (R) is correct.

1) 1
(2) 2
3) 3
(4) 4

T P RUTUE: 1@ @l HUHYA () R GO @I BRI (R) Hal ™ &l
@ (a) : g S YIS T9 8 wigaaeh <= g

R) : Hiiiferes fRufq, Saraita gfaensit & o ik SareEt 9% uga gt &2 & fou fafp amvme Sid 8
Il HYAl B TSl H FHild [dHedl § ¥ 9el Iw g -

1. (A) 3T (R) THFI T&l & 31X (R), (A) P! Tol AT & |
2. (A) 3R R aﬁfﬂﬁ%mﬁ )ﬁﬂﬁﬂ@f?ﬁﬂ%l
3. (A) TR 8 I R}ﬂ%ﬁ‘ﬂiﬂ%l
4. (A) WE1 To1 € W (R) He &
11
(2) 2
(3) 3
(4) 4

1[Option ID=32661] Question Description : dwbv_pg_geo_eng_2_q90
2[Option ID=32662]
3[Option ID=32663]
4[Option ID=32664]
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Read the following passage and answer questions:

Risk is a product of two components: the hazard, which can be defined as the probability of occurrence of a specific event
within a given time period; and the consequence, typically measured by the cost of damage or loss of life. Several
environmental and human factors contribute to landslide hazard, principally by determining the susceptibility of a slope or
geological system to instability. These preparatory factors include slope geometry, hydrology (surface and groundwater), soil
type, underlying geology, vegetation and slope loading. Landslide triggering factors include rainfall, earthquakes, volcanic
activity, changes in groundwater, erosion or undercutting and human activities (e.g. mining, construction or deforestation).
Hydrological processes can exert a significant and dynamic influence on slope stability, as both a landslide preparatory
factor, in terms of pore pressure and groundwater levels within the slope, and as a landslide trigger factor due to rainfall
infiltration or pore pressure changes. Depending on the hydrological properties of the slope material, an increase in moisture
content and pore-water pressure can reduce the mechanical strength of the slope to the point of failure. Landslide
consequences depend on the type and magnitude of the landslide; the process of emplacement or runout, which determines
the rate, travel distance and volume of debris (the hazard footprint); and the exposure and vulnerability of elements within
the area of impact. Landslides can destroy or bury buildings, infrastructure and crops, cut off transport links, water and power
supplies, and result in significant direct and indirect economic losses.

frrafafaa mem &7 ufde ofk ust & s difve

TG &l 9oH! &1 Id1G & : WY, o Ud Ued JHgaiy & 3iex ARy gerst & 9fed 8 & dyra1 (@yregan & 9 9
GRS b S Uahdll &; SR SHdT UiorH o [afRive: siiaq & 39 a1 g1 &1 aFld & &9 § |11 §1dl & | 3 gaiaruig
HR AMAR SR YEETH WaX @ (U UG B § ol dgilad ¥ ¥ edH 31 Y- oF SIRdl gRI1 Fuikd & oidl g1 34
SUHHIAD BRD! § goliF HIfAfd, SlasF (Hde- Yod), Hal & YOR, Jd-ied H-fa3M, d98d SR gaH-HR 4GP gl
YGeH @I Ud B a1d DRoI | gul, YBHu, Sarcig@r T, Yold | ad-, 396 91 -iid ¥ ®erd Ud JFd Taiaiedr (ore-
T4, i 91 39 @emE) W 81 Safaas deh ufeand U Gae au o1 @ e Yo TRl @ © § YRE SUB A
PRSI I 3T U4 ¥Y Ga1d URAdHl & SR YRa [aidd ®Rb, THf ¥U1 H gld o] Rl IR Hgdyul Ud TdTdHS
UHTE ST Uobd o | ealH Uil & SaidgH et d&vl & UR W 945 & JE1 991 U-9id ¢ald | g9ig subadl & fag b
S @I Ui® Aidd & &H B Gdhdl ¢ YRaa @1 URUMH YRa- & YeR Ud Yaadl; AHRIGT a1 AT 94 &I Wishdr
(FTHT3T ), Sl &3, 5 g4l a1 Held &1 HGdH (@i & Uaide) FuiRd $dl 8 W 9u1 UHE &5 o HidR siggal &f RiEddr
(THUIoR) Td Hedl WX R &xdr 81 YFEaq Yol Saea-] aul BHal @f 9§ a1 SHieG $2 9odl 6, URde- 9usd, ud
T4 [Igga HMTgfd 917 &R U@l &, 99T el Td s &0 U srefoqawi & YRl g1f-af &l g

What do you mean by hazard foot-print of landslides?

1. Process of emplacement.

2. Increase in moisture content.

3. Travel distance and volume of debris triggered by a landslide.
4. Hydrological property of area.

(1) 1
() 2
3) 3
(4) 4

Yl & Gadl & Ugiag U TG 1 AR ¢ ?

1. ARG &1 wichar

2. Hlgal &I 7E H glg)

3. YXGTH GR1 ISR Hed ST HEI SR T8 g3 |
4. &7 @ STeTTaR EE=R

1 1




(2) 2

3) 3

(4) 4

1[Option ID=32665] Question Description : dwbv_pg_geo_eng_2_q91
2[Option ID=32666]

3[Option ID=32667]
4[Option ID=32668]

Sl. No.92
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Read the following passage and answer questions:

Risk is a product of two components: the hazard, which can be defined as the probability of occurrence of a specific event
within a given time period; and the consequence, typically measured by the cost of damage or loss of life. Several
environmental and human factors contribute to landslide hazard, principally by determining the susceptibility of a slope or
geological system to instability. These preparatory factors include slope geometry, hydrology (surface and groundwater), soil
type, underlying geology, vegetation and slope loading. Landslide triggering factors include rainfall, earthquakes, volcanic
activity, changes in groundwater, erosion or undercutting and human activities (e.g. mining, construction or deforestation).
Hydrological processes can exert a significant and dynamic influence on slope stability, as both a landslide preparatory
factor, in terms of pore pressure and groundwater levels within the slope, and as a landslide trigger factor due to rainfall
infiltration or pore pressure changes. Depending on the hydrological properties of the slope material, an increase in moisture
content and pore-water pressure can reduce the mechanical strength of the slope to the point of failure. Landslide
consequences depend on the type and magnitude of the landslide; the process of emplacement or runout, which determines
the rate, travel distance and volume of debris (the hazard footprint); and the exposure and vulnerability of elements within
the area of impact. Landslides can destroy or bury buildings, infrastructure and crops, cut off transport links, water and power
supplies, and result in significant direct and indirect economic losses.

FrafafEa e 1 a3 ofik ust F s Jifve

G &l 9edi @1 IATG & : G, ol Uh Ued 994Gy & 3iex ARy gersi & 9fed 8 & Iya-1 (@yiegan & 49 §
GRS b & Uahd ¢; SR ST uRoH o [afive: sfiaq & JhuF a1 g1- &1 aFld & &9 H |11 91dl & | - gaiauig
HR AMA SR YRETH Wax @ (U UG B & ol dgilad Y ¥ edH 31 Y- oF SRl gR1 FuiRd &1 &l g1 34
SUHHIAD BRD! H gol- Al SasE (Hde- Hold), Hal & YoR, HdHied H-fa3M, T3 R gaH-HR 41 g
YRGTH @I Ud B a1 DRoI | gul, YBY, Sarcrgar T, Yoid 8 URad-, U6 91 -id § ®erd Ud AFd Taiaiemdr (ord-
T4, i a1 39 wemE) Iffd 81 Safage dedh ufean 3y gan aul e & JidR Yod WRi & B H YEREaH JUSHES
DRE qUl 91 S:RG Ud U GaId URddHl & HRUI YR [dHdd HRb, GiH! Ul H gTd &I [Udl 1R Hg@yUl Ud TdTdHD
U4 ST Udbd o | ealH Al & Saidgq et d&vl & YR U 945 & JE1 991 U-9d ¢ald H 9ig uhadl & fag ddb
TId @I UifA® AlGd $f HH B 9ddl ol YRETT &1 URUMH YFEa- I SR Ud Yaadl; AR a1 3R 96+ @ wiedl
(T3 ), Sl &3, THA G4l aYl Hed &1 HGd- (Gdd & Uaids) FeUiRd Sl 8 W 9yl WHG &3 & HidR Siagal &1 SRiEddr
(THHUIoR) Td Yol W MR vl 81 YFgaq Yol Saeia-] 9yl BHal @f 9 a1 sHieG ®2 9odl 8, URde- 49U, ud
T4 f9ggd MY S1iEd B Tl &, TUT Ued Ud SUdE ©U U Sieqawi &l YR g1+l &dl |

The consequences of landslide mainly depend upon:

1. Type and mangitude of landslide.

2. Low intensity and low frequency of landslide.
3. Space and time of occurence of landslide.

4. Instability and slope loading of the area.

(1) 1
(2) 2
(3) 3
(4) 4




YRGS o URUIH e iR o g

1. YRGTH B WBR AR digdl U1

2. YT DI HH diadl 3R BH G W
3. TG o gied aH @ ®F AR 999 ||
4. &7/ S B HRRAT AR TIH UR W

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32669] Question Description : dwbv_pg_geo_eng_2_q92
2[Option ID=32670]

3[Option ID=32671]
4[Option ID=32672]

Sl. No.93
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Read the following passage and answer questions:

Risk is a product of two components: the hazard, which can be defined as the probability of occurrence of a specific event
within a given time period; and the consequence, typically measured by the cost of damage or loss of life. Several
environmental and human factors contribute to landslide hazard, principally by determining the susceptibility of a slope or
geological system to instability. These preparatory factors include slope geometry, hydrology (surface and groundwater), soil
type, underlying geology, vegetation and slope loading. Landslide triggering factors include rainfall, earthquakes, volcanic
activity, changes in groundwater, erosion or undercutting and human activities (e.g. mining, construction or deforestation).
Hydrological processes can exert a significant and dynamic influence on slope stability, as both a landslide preparatory
factor, in terms of pore pressure and groundwater levels within the slope, and as a landslide trigger factor due to rainfall
infiltration or pore pressure changes. Depending on the hydrological properties of the slope material, an increase in moisture
content and pore-water pressure can reduce the mechanical strength of the slope to the point of failure. Landslide
consequences depend on the type and magnitude of the landslide; the process of emplacement or runout, which determines
the rate, travel distance and volume of debris (the hazard footprint); and the exposure and vulnerability of elements within
the area of impact. Landslides can destroy or bury buildings, infrastructure and crops, cut off transport links, water and power
supplies, and result in significant direct and indirect economic losses.

frafafaa e &1 ufe ofk ust F s difve

SIGH Gl 9ed! &1 IUG & : TV, oY UH Ued 99916y & sicx ARy gersi & 9fed 8F & dya (@yegan & 9 §
Ui b & Uahd ¢; SR $H®T uiorH o [afRive: sfiaq & 39 a1 g1 &1 aFld & &9 H |11 91dl & | - gaiavig
IR OHd SRS YRgad T @ RS g & & & Ssifas ©0 3 oar a1 yaui-e oF R gri a1 o g1 53
SUHHIAD BRD! H gel- Il SasF (Hde- Hold), Hal & YoR, JddHied H-fa3M, T98d R gaH-HR 941G g
YRGTH @I UYd B a1d DRoI | gul, YBHY, Sarcrgar T, Yol 8 URad-, 3U%6- 91 -id § ®erd Ud AFd Taiaiemr (ord-
T, A0 91 34 ®erd) G § | Siaida Se Uehang 3¢ Gald aul oTd & e Yoid Rl & ©U H YRdoH SUDAHD
DRE aUl 91 WG Ud I Gald URddHI & BRI Ao [da[® HRd, GiH Ul H gTd &I [Rdl 1R Ayl Ud TddHD
U4 ST Udbd o | ealH Al & Saidgq et d&vl & SUR U 95 & JE1 991 U-9d ¢ald H 9ig uhadl & fag ddb
TId @I UiE® Al S HH & Gddl 8| YRETT @1 IR YFEa- 1 UHR U4 Yaadl; AR a1 3R 96 @ wigdl
(TTHTIT ), Ol &, TH G4l TU1 Hed &1 HGd- (@l & Uaig) FuUld $dl 8, W auT THG &5 @& Wiz o/agar &f Rfékar
(THHUeR) T8 Yedl W MR =T 81 YFgaq Yol Saea-] aul Baal @f 9 a1 sHieG ®2 9odl 6, Ukde- 9usd, ud
T4 f9ggd Y[ a1iEd B Yol g, 74T Ul Ud 3UdE U Y sicqawl &l HRI g1+l &dl g




Which process exerts a significant and dynamic influence on slope stability?

1. Underlying geology.
2. Slope geometry.

3. Slope loading.

4. Hydrological process.

1)
(2)
(3)
(4)

A W N R

SO R W [ WishdT @1 He@qul iR TTaleid WHd Usdl & 7

1. Y Y- faFH |

2. oM WAkl

3. GAH W 4R |

4. Sidfay et wissar|

(1)
(2)
(3)
(4)

A W N R

1[Option ID=32673] Question Description : dwbv_pg_geo_eng_2_q93
2[Option ID=32674]
3[Option ID=32675]
4[Option ID=32676]
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Read the following passage and answer questions:

Risk is a product of two components: the hazard, which can be defined as the probability of occurrence of a specific event
within a given time period; and the consequence, typically measured by the cost of damage or loss of life. Several
environmental and human factors contribute to landslide hazard, principally by determining the susceptibility of a slope or
geological system to instability. These preparatory factors include slope geometry, hydrology (surface and groundwater), soil
type, underlying geology, vegetation and slope loading. Landslide triggering factors include rainfall, earthquakes, volcanic
activity, changes in groundwater, erosion or undercutting and human activities (e.g. mining, construction or deforestation).
Hydrological processes can exert a significant and dynamic influence on slope stability, as both a landslide preparatory
factor, in terms of pore pressure and groundwater levels within the slope, and as a landslide trigger factor due to rainfall
infiltration or pore pressure changes. Depending on the hydrological properties of the slope material, an increase in moisture
content and pore-water pressure can reduce the mechanical strength of the slope to the point of failure. Landslide
consequences depend on the type and magnitude of the landslide; the process of emplacement or runout, which determines
the rate, travel distance and volume of debris (the hazard footprint); and the exposure and vulnerability of elements within
the area of impact. Landslides can destroy or bury buildings, infrastructure and crops, cut off transport links, water and power
supplies, and result in significant direct and indirect economic losses.

frrafafEa e &1 ufde ofk ust & s difve

SITEH &l 9@ &1 Id1G § : G, o Uo Ued 9auay & JHeX Ry gers & gfcd 84 ®f 9YIaT (§yTendn & 0 o
RIS b S Uahdll &; SR SHdT UiorH o afRve: Siiaq & 69 a1 g1i- &1 aFTd & &9 § |11 §1dl & | 3Hd gaiaruig
HR AMAR SR HEETH WaX @ (U UG B § ol dgilad ¥ ° edH 31 YaHd oF SeRdl gR1 Fuikd &1 ol g1 34
SUHHIAD BRD! § goliF HIfAfd, SlasF (Hde- Yod), Hal & YOR, Jd-ied H-fa3M, d98d SR gaH-HR 4GP gl
HRGT @I Ud B dldd SRl H gy, Yy, Sarcrgdl i1, Yoid | URad-, 3fue- O1 -iid ¥ &erd Ud HHEd afaier (ore-
T4, i 91 39 @ema) e 81 Safaae Jeeh ufsand U GaE au o1 @ e Yo ¥Rl & ©0 § YR SUS A
PRSI I 3T U4 ¥Y Ga1d URAdHl & SR YRa [aidd ®Rb, THf ¥U1 H gld o] Rl IR Hgdyul Ud TdTdHS
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Which are the triggering factors for occurence of landslides?

1. Slope geometry, soil type and slope loading.

2. Rainfall, earthquake and changes in ground water.
3. Hydrolegy, underlying geclogy and vegetation.

4. Slope geometry, rainfall and soil type.

(1) 1
() 2
3) 3
(4) 4
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1) 1




(2) 2

3) 3

4) 4

1[Option ID=32677] Question Description : dwbv_pg_geo_eng_2_q9%94
2[Option ID=32678]

3[Option ID=32679]
4[Option ID=32680]
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Read the following passage and answer questions:

Risk is a product of two components: the hazard, which can be defined as the probability of occurrence of a specific event
within a given time period; and the consequence, typically measured by the cost of damage or loss of life. Several
environmental and human factors contribute to landslide hazard, principally by determining the susceptibility of a slope or
geological system to instability. These preparatory factors include slope geometry, hydrology (surface and groundwater), soil
type, underlying geology, vegetation and slope loading. Landslide triggering factors include rainfall, earthquakes, volcanic
activity, changes in groundwater, erosion or undercutting and human activities (e.g. mining, construction or deforestation).
Hydrological processes can exert a significant and dynamic influence on slope stability, as both a landslide preparatory
factor, in terms of pore pressure and groundwater levels within the slope, and as a landslide trigger factor due to rainfall
infiltration or pore pressure changes. Depending on the hydrological properties of the slope material, an increase in moisture
content and pore-water pressure can reduce the mechanical strength of the slope to the point of failure. Landslide
consequences depend on the type and magnitude of the landslide; the process of emplacement or runout, which determines
the rate, travel distance and volume of debris (the hazard footprint); and the exposure and vulnerability of elements within
the area of impact. Landslides can destroy or bury buildings, infrastructure and crops, cut off transport links, water and power
supplies, and result in significant direct and indirect economic losses.

FrafafEa e 1 a3 ofik ust F s Jifve
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UHIG ST ¥dbd o | ealH Al & Saidgq et d&vl & SUR W 95 & JE1 991 3U-9d ¢ald H 9ig uhadl & [ag ddb
eI @I Uii® Aidd & &9 B Ghdl & YRaa @l URUMH YRaa- & UeR Ud Haadl; AHRI0T a1 AT g4 &I Wil
(T3 ), Sl &3, THA g4l aUl Held &1 HGdH (Gdd & Uaide) FUiRd Sl 8 W 9u1 U4 &5 & HidR Siagal &1 Rk
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U4 faggd oMgfd SIf¥d S Thdl &, 99T Uel U9 Ude U I feuawy &1 Uil g1fal &l g

Geomorphic risk is defined as:

1. Hazard in a given space and exposure.

2. Hazard in a given time and adaptation.

3. Probability of occurence of extreme event in the given time and loss of life and property.
4. Vulnerability in given time and occurence of hazard.

(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

(3) 3
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1[Option ID=32681] Question Description : dwbv_pg_geo_eng_2_q95
2[Option ID=32682]

3[Option ID=32683]
4[Option ID=32684]
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Read the following passage carefully and answer questions:

Thomas Malthus was an English clergyman who, in 1798, published an Essay on the Principles of Population in which he put
forward the view that, "the power of population is indefinitely greater than the power of the earth to produce subsistence for
man.” He thought that a balance could only be maintained if famine, disease or war periodically increased the death rate and
reduced population growth. His pessimistic ideas were accepted by several other 19 century scholars in England and
France. At the end of the 19" century, the population of England was only about 10 million, but much of their food supply
had to be produced from the limited agricultural land of the country. Changes in land tenure, brought about by enclosure of
the old common fields and the formation of large farms in the place of small scattered plots led to rural depopulation. The
towns, especially those where the new factory industries had been established, grew very rapidly and were overcrowded,
dirty and unhealthy. The people who lived in them were poor, under-fed, overworked and had little resistance to disease.
Thus, had food supply been reduced or population expanded too rapidly, these people would have suffered starvation and
epidemics would have reduced the population. This has already happened twice during England’s history; the Black Death of
fourteenth century and the Great Plague of the seventeenth century coincided with periods when harvest was bad and there
were food shortages. Hunger reduced resistance to diseases and bubonic plague caused the death of many thousands of
people. Malthus was afraid that something similar would happen again. In his time, great advances were being made in the
treatment and control of diseases such as cholera, typhoid and smallpox which were still rife in England and Europe. This
meant that death rates, and particularly infant mortality rates, were falling. Malthus calculated that population could double
every twenty-five years, but no similar increases in food supplies could be expected. He could not have foreseen the
tremendous changes which were to take place in the nineteenth and twentieth century.
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UTHY OTY UF oS Uedl &, fom@r 1798 § wo U8 3 ¢ fiifucy sife uiqae e gon o, g 3= g8 =fpai
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fig-uTs a9, 7% SiR SRA=UUE B MU 379 64 1] Safed TS, Sied-Uitd, Sl 99 ara 9, e Sikat T uferem
i o1l 38 UeR, 3G W 3Yfd $H &I Sl a1 SHEEd] $1 dell o [d&R gial di d ofdd HEadl § 7% sid SR Ag™ ¥
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According to Malthus, what is the relationship between population growth and earth's resources?

1. Population grows rapidly as compared to subsistence produced from earth.
2. Population growth is not related with earth's resources.

3. Population growth may be checked by famine, disease or war.

4. Population doubles every 25 years.

(1) 1
(2) 2
(3) 3
(4) 4
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Read the following passage carefully and answer questions:

Thomas Malthus was an English clergyman who, in 1798, published an Essay on the Principles of Population in which he put
forward the view that, "the power of population is indefinitely greater than the power of the earth to produce subsistence for
man.” He thought that a balance could only be maintained if famine, disease or war periodically increased the death rate and
reduced population growth. His pessimistic ideas were accepted by several other 19 century scholars in England and
France. At the end of the 19" century, the population of England was only about 10 million, but much of their food supply
had to be produced from the limited agricultural land of the country. Changes in land tenure, brought about by enclosure of
the old common fields and the formation of large farms in the place of small scattered plots led to rural depopulation. The
towns, especially those where the new factory industries had been established, grew very rapidly and were overcrowded,
dirty and unhealthy. The people who lived in them were poor, under-fed, overworked and had little resistance to disease.
Thus, had food supply been reduced or population expanded too rapidly, these people would have suffered starvation and
epidemics would have reduced the population. This has already happened twice during England’s history; the Black Death of
fourteenth century and the Great Plague of the seventeenth century coincided with periods when harvest was bad and there
were food shortages. Hunger reduced resistance to diseases and bubonic plague caused the death of many thousands of
people. Malthus was afraid that something similar would happen again. In his time, great advances were being made in the
treatment and control of diseases such as cholera, typhoid and smallpox which were still rife in England and Europe. This
meant that death rates, and particularly infant mortality rates, were falling. Malthus calculated that population could double
every twenty-five years, but no similar increases in food supplies could be expected. He could not have foreseen the
tremendous changes which were to take place in the nineteenth and twentieth century.
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UTHY OTY UF oS Uedl &, fom@r 1798 § wo U8 3 ¢ fiifucy sife uiqae e gon o, g 3= g8 =fpai
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oy

Which one of the following options is considered as the best description of Malthusian perspective related to population
growth and resources?

1. Optimistic
2. Neutral
3. Pessimistic
4. Critical

(1) 1
(2) 2
(3) 3
(4) 4
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Read the following passage carefully and answer questions:

Thomas Malthus was an English clergyman who, in 1798, published an Essay on the Principles of Population in which he put
forward the view that, "the power of population is indefinitely greater than the power of the earth to produce subsistence for
man.” He thought that a balance could only be maintained if famine, disease or war periodically increased the death rate and
reduced population growth. His pessimistic ideas were accepted by several other 19 century scholars in England and
France. At the end of the 19" century, the population of England was only about 10 million, but much of their food supply
had to be produced from the limited agricultural land of the country. Changes in land tenure, brought about by enclosure of
the old common fields and the formation of large farms in the place of small scattered plots led to rural depopulation. The
towns, especially those where the new factory industries had been established, grew very rapidly and were overcrowded,
dirty and unhealthy. The people who lived in them were poor, under-fed, overworked and had little resistance to disease.
Thus, had food supply been reduced or population expanded too rapidly, these people would have suffered starvation and
epidemics would have reduced the population. This has already happened twice during England’s history; the Black Death of
fourteenth century and the Great Plague of the seventeenth century coincided with periods when harvest was bad and there
were food shortages. Hunger reduced resistance to diseases and bubonic plague caused the death of many thousands of
people. Malthus was afraid that something similar would happen again. In his time, great advances were being made in the
treatment and control of diseases such as cholera, typhoid and smallpox which were still rife in England and Europe. This
meant that death rates, and particularly infant mortality rates, were falling. Malthus calculated that population could double
every twenty-five years, but no similar increases in food supplies could be expected. He could not have foreseen the
tremendous changes which were to take place in the nineteenth and twentieth century.
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The Great Plague in England's history occured in which period?

1. Fourteenth century
2. Thirteenth century
3. Seventeenth century
4. Fifteenth century

(1) 1
(2) 2
(3) 3
(4) 4
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Read the following passage carefully and answer questions:

Thomas Malthus was an English clergyman who, in 1798, published an Essay on the Principles of Population in which he put
forward the view that, "the power of population is indefinitely greater than the power of the earth to produce subsistence for
man.” He thought that a balance could only be maintained if famine, disease or war periodically increased the death rate and
reduced population growth. His pessimistic ideas were accepted by several other 19 century scholars in England and
France. At the end of the 19" century, the population of England was only about 10 million, but much of their food supply
had to be produced from the limited agricultural land of the country. Changes in land tenure, brought about by enclosure of
the old common fields and the formation of large farms in the place of small scattered plots led to rural depopulation. The
towns, especially those where the new factory industries had been established, grew very rapidly and were overcrowded,
dirty and unhealthy. The people who lived in them were poor, under-fed, overworked and had little resistance to disease.
Thus, had food supply been reduced or population expanded too rapidly, these people would have suffered starvation and
epidemics would have reduced the population. This has already happened twice during England’s history; the Black Death of
fourteenth century and the Great Plague of the seventeenth century coincided with periods when harvest was bad and there
were food shortages. Hunger reduced resistance to diseases and bubonic plague caused the death of many thousands of
people. Malthus was afraid that something similar would happen again. In his time, great advances were being made in the
treatment and control of diseases such as cholera, typhoid and smallpox which were still rife in England and Europe. This
meant that death rates, and particularly infant mortality rates, were falling. Malthus calculated that population could double
every twenty-five years, but no similar increases in food supplies could be expected. He could not have foreseen the
tremendous changes which were to take place in the nineteenth and twentieth century.
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What factor(s) was/were responsible for the deaths of people during Black Death and Great Plague in England?

1. Starvation

2. Plague

3. Poor medical infrastructure
4. Starvation and Plague

(1) 1
(2) 2
(3) 3
(4) 4




s H Wo ot AR U W & GRH Adadl &I g & [0 dH 98 HRE StRadl 41/ 47

1. HEHI
2. T
3. BHOIR fafa Saaee-

4, IR 3R @i

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32697] Question Description : dwbv_pg_geo_eng_2_q99
2[Option ID=32698]

3[Option ID=32699]
4[Option ID=32700]

Sl. No.100
QBID:800100




Read the following passage carefully and answer questions:

Thomas Malthus was an English clergyman who, in 1798, published an Essay on the Principles of Population in which he put
forward the view that, "the power of population is indefinitely greater than the power of the earth to produce subsistence for
man.” He thought that a balance could only be maintained if famine, disease or war periodically increased the death rate and
reduced population growth. His pessimistic ideas were accepted by several other 19 century scholars in England and
France. At the end of the 19" century, the population of England was only about 10 million, but much of their food supply
had to be produced from the limited agricultural land of the country. Changes in land tenure, brought about by enclosure of
the old common fields and the formation of large farms in the place of small scattered plots led to rural depopulation. The
towns, especially those where the new factory industries had been established, grew very rapidly and were overcrowded,
dirty and unhealthy. The people who lived in them were poor, under-fed, overworked and had little resistance to disease.
Thus, had food supply been reduced or population expanded too rapidly, these people would have suffered starvation and
epidemics would have reduced the population. This has already happened twice during England’s history; the Black Death of
fourteenth century and the Great Plague of the seventeenth century coincided with periods when harvest was bad and there
were food shortages. Hunger reduced resistance to diseases and bubonic plague caused the death of many thousands of
people. Malthus was afraid that something similar would happen again. In his time, great advances were being made in the
treatment and control of diseases such as cholera, typhoid and smallpox which were still rife in England and Europe. This
meant that death rates, and particularly infant mortality rates, were falling. Malthus calculated that population could double
every twenty-five years, but no similar increases in food supplies could be expected. He could not have foreseen the
tremendous changes which were to take place in the nineteenth and twentieth century.
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Improvement in the treatment and control of diseases in England and Europe helped to substantially reduce mortality in
which age group of the population?

1. Adult population
2. Infant population
3. Older population
4. Older children

(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4
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